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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272413
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592740603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing term in the following series:

D16k, CIE, B4D,

Options:

1. = A3C
2. v Al1C
3. = B5C
4. = B1D

Question Number : 1 Question Id : 54592740603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEa e g@er A oIt g AT L

D16F, COE, B4D,

Options:

1. = A3C
2. v A1C
3. = B&C
4. = B1D

Question Number : 2 Question Id : 54592740604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the wrong term in the following series:

ApplE, IEMOn, tOmMAtO, pIneApplE, OrAngE

Options:

1. « OrAngE

2. v pIneApplE
3. = tOMAtO
4. = JEmOn

Question Number : 2 Question Id : 54592740604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEd gEer A eld T8 AT -

ApplE, IEMOn, tOmMAtO, plneApplE, OrAngE

Options:

1. = OrAngE
2. v plneApplE
3. = tOmAtO
4. % |[EmOn

Question Number : 3 Question Id : 54592740605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arrange the given words in the sequence in which they occur
in the dictionary.

1. Transition
2. Traumatism
3. Tragically

4. Transpolar
5. Transeptal



Options:

1. = 3,5,4,1,2
2.v 3,5,1,4,2
3. % 5,3,1,4,2
4. % 5,3,2,1,4

Question Number : 3 Question Id : 54592740605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT esal ol 3 FH H TIEUd Y o T osaehlel A
gid gl

Transition
Traumatism
Tragically

Transpolar

L N

Transeptal

Options:

1. = 3,5,4,1,2
2. v 3,5,14,2
3. » 5,3,1,4,2
4. = 5,3,2,1,4

Question Number : 4 Question Id : 54592740606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. » CFZ



2. » RUO
3. v KOF
4, = SVP

Question Number : 4 Question Id : 54592740606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feU 90 aOeheur A &, did T ead dileh & AT &l
BTollleh, Ueh Tdehed 3T dlel hT i@ olal &1 39 &hed &

el he ST ST T 3TeldT &1

Options:

1. = CFZ
2. » RUO
3. v KOF
4. = SVP

Question Number : 5 Question Id : 54592740607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the given options 3 pair of words are similarly related and
one pair is differently related. Find the pair which Is
differently related.

Options:

1. = Cow : Shed
2. = Guns : Armoury
3. v Car : Road
4. = Grain : Granary

Question Number : 5 Question Id : 54592740607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feu 710 fahreul & 3 orsal & ST ThTHATT Joad & T s
SISr 3ol i@ O Harad gl 39 SISl I ATT &L SF 3eler
NE O garad &l

Options:

1. = 3T : INATT
2. = §qeh : AEARN

3. ¢ hL: Hsh

4, = TSl : YT

Question Number : 6 Question Id : 54592740608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of letters are similarly related and
one pair is differently related. Find the pair which 1s
differently related.

Options:

1. » MVD : OYH
2.« HBP : JET
3. = KFL : MIP
4. v CNR: ETZ

Question Number : 6 Question Id : 54592740608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fou v gereul & 3 38T & NS THTAT Tarad & 3t o
SISr 3ol i@ O Harad g1 39 SISl i ATT & SF 3eler
g o garad &l

Options:

1. = MVD : OYH
2. = HBP : JET




3. = KFL : MIP
4. v CNR : ETZ

Question Number : 7 Question Id : 54592740609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

KRW : ELQ :: MWI : ?
Options:

1. v GQC
2. = ERD
3. x HSC
4. = EQB

Question Number : 7 Question Id : 54592740609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [dhed &7 I« Y S dIaX U8 8 38T TR & T@aidd &
o 7hT & Ugell U g 9% & Faiad gl

KRW : ELQ @ MWI : 7

Options:

1. v GQC
2. = ERD
3. » HSC
4. « EQB

Question Number : 8 Question Id : 54592740610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the pair that is related on the same basis to the pair
given in the question.

KOOI : NTL 2 ?
Options:

1. = MDY : PHB
2. » HCP : MGS
3.v CHM : FKP
4, » KPX : NTA

Question Number : 8 Question Id : 54592740610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 SET T Ide Y ST 38T MR W eiad a6, o g 3R
9T gaTel H & 918 Siar garad &l

KQI : NTL :: ?

Options:

1. = MDY : PHB
2. = HCP : MGS
3. v CHM : FKP
4. = KPX : NTA

Question Number : 9 Question Id : 54592740611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the group of letters that is related on the same basis to
the group of letters given in the question.

LSZ : IPW :FMT :: ?

Options:

1. » DNX : AKU : SMD



2. » DNX : MKL : SKD
3. * SMD : DNF : XBA
4. v DNX : AKU : XHR

Question Number : 9 Question Id : 54592740611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 &R & GHE F IIa H A 34T YR 9T Gafdd g,
o 3TYR 9T gaTer A QU v 318670 & GHg AT g

LSZ : IPW : FMT 2 ?

Options:

1. » DNX : AKU : SMD
2. » DNX : MKL : SKD
3. = SMD : DNF : XBA
4. v DNX : AKU : XHR

Question Number : 10 Question Id : 54592740612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If animals which can fly in the sky are called {rogs, animals
which can crawl are called lions, animals which can walk are
called snakes and animals which live in water are called
birds, then what will be gorilla called?

Options:

1. = lions
2. = frogs
3. v snakes
4. = birds

Question Number : 10 Question Id : 54592740612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e 3ThTeT H 38 TTel SATAAl] ol Haeh el ollv, I3a aTel
STTeTal T € haT AT, Tolel dTel SITeTdd] I TTT Hal ST
AT 9T A IE arel SATeTal S gafY ser e, ar Milear fa

h@&l SITQdIT?

Options:

1. % AT

2. » Heh
3. v 9T
4. = T&Y

Question Number : 11 Question Id : 54592740613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language,

'min tin pin lin’ means 'there is heavy traffic’
'1in zin tin fin’ means 'it is traffic time’

'Kin tin zin sin rin’ means 'it is for one hour’
What is the code for 'time’ ?

Options:

1. = lin

2 « fin
3. % Zin
4. = tin

Question Number : 11 Question Id : 54592740613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teh TATead I #T9T A,

'min tin pin lin' T 377 & 'there is heavy traffic'
'lin zin tin fin' &7 39T & 'it is traffic time'

'kin tin zin sin rin' T Y § 'it is for one hour'
'time' T hig FAT g7

Options:

1. = lin

2. ¢ fin

3. % ZIn

4. = tin

Question Number : 12 Question Id : 54592740614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language SLACK is coded as QNYEI then
what is the code for RAINBOW?

Options:

1. * PDGPXQV
2. * PCGPMNU
3. v PCGPZQU
4. » PDGPKMO

Question Number : 12 Question Id : 54592740614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk foread g AT9T H, SLACK &r QNYEI & §7 H hifsd
T STar &, ar RAINBOW T I T &7

Options:

1. = PDGPXQV
2. » PCGPMNU




3. v PCGPZQU
4. = PDGPKMO

Question Number : 13 Question Id : 54592740615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six friends — Hina, Prem, Dhruv, Luke, Madhavan and
Wasim are sitting around a circular table such that each
person is sitting exactly opposite another person in the group,
thus forming 3 pairs of friends sitting exactly opposite each
other. Hina is sitting to Wasim’s immediate right. Madhavan
is sitting to Luke’s immediate left. Dhruv and Wasim do not
sit next to each other. Luke and Wasim do not sit next to each
other. There Is exactly one person sitting between Luke and
Hina.

Who is sitting exactly opposite Luke?

Options:

1. v Wasim
2. = Prem
3. = Dhruv
4. » Hina

Question Number : 13 Question Id : 54592740615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



o AEd - fgar, uH, g, ogeh, ATYT 3 TEH Teh el
a8 & TRI 3 §S §, S T ucdesh =afarad @Hg A Tordl
e =gTerd #Wﬁﬂﬁﬁéﬁf& =9 UL 3 S8 gIEdl
vk g & foedel TAwIT 8 81 fgalr, a€@A & I aw 3
§&T 81 ATYTe, TG & SIF a0 N §S §| YT 3R qHH TR
Y & SITel H o6l 8 §l oYeh A’ TUA Th G & ool A
T2l 8 &l o 3R & & &= 3F Tk Al §aT g
gk & Sl HIHA il dST 87

Options:

1. v TdH
2. = OH
3. % o

4. = e

Question Number : 14 Question Id : 54592740616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of words are similarly related and
one pair is differently related. Find the pair which Is

differently related.
Options:
1. = Goat - Kid

2. = Kangaroo - Joey
3. v Rabbit - Puppy
4. = Wolf - Cub

Question Number : 14 Question Id : 54592740616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fau v Gereul & el hr 3 ST TATT &7 I FHEUT &, 3T
Teh SI8T 3oldl oig & Fardd gl 39 SISl I ATT e SlF 3eldr
g ¥ TErad gl

Options:

1. % SRLI- ST

2. ® MK - ST

3. v TN - Mo
4. = AT - TREMTH

Question Number : 15 Question Id : 54592740617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that arranges the words given below in the
most appropriate and meaningful sequence.

1. Branch

2. Forest

3. Hatchling
4, Tree

5. Nest

Options:

1. % 2-1-4-3-5
2. % 1-3-4-2-5
3. % 1-4-2-5-3
4. v 2-4-1-5-3

Question Number : 15 Question Id : 54592740617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ARt fev 910 ereal s Ho IUIFT AT ATTF IeRA A

LY Y i o
AT hial dlel [dFeT T T Hi|

Branch
Forest
Hatchling
Tree
Nest

Options:

1. = 2-1-4-3-5
2. % 1-3-4-2-5
3. % 1-4-2-5-3
4. v 2-4-1-5-3

I e

Question Number : 16 Question Id : 54592740618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Analyse the given information and answer the question that
follows.

The criteria for selecting a Software Developer have been
given as under:

The candidate must:

1. Be a graduate in Science or Engineering with at least 60%
marks.

2. Have more than 1 year of industry experience in software
development

3. Be between 18 and 27 years old on the date of application
The following exceptions apply:

A. If a candidate meets all other criteria except 2 above, the
candidate will be referred to the Programme Manager.

B. A candidate whose age is more than 27 years but less than
32 years will be referred to the Recruiting Manager.

Kevin D'Souza is am engineering graduate with 61% marks.
He has been working as a software developer for the last 5
years. He is currently pursuing an MBA from an Open
University, and he is 29 years old.

What decision should be taken about this candidate?

Options:

1. = The candidate should be selected.
2. * The candidate should be rejected.

3. = The candidate should be referred to the Programme
Manager.

4. v The candidate should be referred to the Recruiting
Manager.



Question Number : 16 Question Id : 54592740618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&I IS STeThRT T [3ealor ¥ 3T 39 wea &7 3cad & o
oo TR B
Ush HIFCAAL STAIH o Tel o HAlelas foie=lleldr fev arw &:

3FAEAN I ARV

1. HF & T 60% 3Th! o T A ATA AT Soilla AT H
TATAR &l

2. HiFedIL STeTHC A 3N T 1 a¥ & 3k T 3HTHT gl
3. 3@Age hr At 18 & 27 a¥ & &= &l

fAFafel™@a auare o] gid &:

A. IfE FIE IFARIR 3TNFT 2 I BIgHL 3T GHT ATACS!
I W T §, d SFAGIR I TEITH Heloll & 9 Sl
STTUATT|

B. Ush AR foraehr 3mg 27 a¥ @ ifae &, ofcher 32 a¥
T FH &, F 7df TgUF F I AT ST

el TSEET 61% 37hI & AT Follfaaar Forae g1 a8 TS
5 g9 ¥ Ueh HTFedIT 3T F &7 H H1H HT & &1 I8
qIATS H T Her faeafdeamey @ MBA T @ §, 3T a8
29 aY T &I

9 3FAGAN o g H F7 v foRr Srer anfge?

Options:

1. = 3FAICAR T IIA BT ANET




2. » 3FARAR Sl TR N &I7 ST a1fgel
3. » 3FAICAN I WEMH Hololl & T HST SATaT ATRT
4. v 3FAIEAN &l dT TEUF & 91 HT AT AT

Question Number : 17 Question Id : 54592740619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Lucy is Roy’s sister. Roy is Ben’s father. Martha is Lucy’s
mother. How is Martha related to Ben?

Options:

1. v Grandmother
2. » Mother

3. % Aunt

4. = Sister or cousin

Question Number : 17 Question Id : 54592740619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

of®ll, T HT FEeT § U, deT ok T &1 AT, oFT HT AT F
ATAT, doT & 8 FEad 87

Options:

1. v GIENTAT

2. = HIAT

3. = TR

4, % Sgo IT TN Tgal

Question Number : 18 Question Id : 54592740620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In this question, a statement has been given, followed by two
assumptions numbered I and II. Analyse the two assumptions
together and determine which of them is/are implicit in the
statement.

Statements:
Normally, Mr. Ghosh travels cheap by opting for a train
journey but he took a flight this time as it was an emergency.

Assumptions:

I. Travelling by train is more expensive than travelling by air.
II. In case of an emergency, one should not think of the
financial cost but make arrangements to reach the
destination by the fastest means possible.

Options:

1. = Only assumption I i1s implicit.

2. v Only assumption II is implicit.

3. *» Neither assumption I nor assumption II is implicit.
4. = Both the assumptions are implicit.

Question Number : 18 Question Id : 54592740620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



=g U H, U wud fgar = §, g s | 3w 1l Fray
JRUNY & Teh TTL el gROMT FT faeavor i 3w @aiRa
F b 38 & Fid I/d s A fed g

hd;

MH G 9T, & 9T Tk Io7 ITAT hT T hdeh & H ITAT
A g olfchdd 3edlad 30 g AT 71 a3 fohar Fifsh I8
Teh 3TUTdeRTele Tt 2T

=r

YUY

. YOS & ITAT LT Al ITET F SATST AGIT &

|| TordT 3TUTdeRTelldl RATT H, TodT & AcalT oerd & TR H
Aol OeT I1RT, olfehe T8 o9 dilehl & IIded dh QE?I?T
T TITEAT T ANRT

Options:

1. » Faa arom | &fEa &

2. v shae grom |l fafga &

3. = of dF 9RO | 3 o & aror || fafga &
4. = gt grRone fafga g

Question Number : 19 Question Id : 54592740621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In this question, two statements have been given labelled as
Assertion (A) and Reason (R). Analyse both the statements and
determine whether they are correct and whether the reason
correctly explains the assertion.

Assertion (A): Boiling a potato on a mountain {(at a higher
altitude) takes much less time than it would at sea level.
Reason (R): A pressure cooker can be used for cooking to
compensate for lower atmospheric pressure at high elevations.

Options:

1. = Both A and R are true and R is the correct explanation of
A

2. = Both A and R are true but R is not the correct explanation
of A.

3. % Aistrue but R is false.
4. v A is false but R is true.

Question Number : 19 Question Id : 54592740621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=H Ued H, g ®UAl h JAAFAT (A) 3T FROT (R) & &7 H
deer fear =T 1 S wuar v Fedvur F 3t fFuiRa w1
foF a1 & 9ar & 3N FIT FROT § Tar g7

HIAFUT (A): Tk TEI8 W (3w F<5 W) 3Te] 3aTeldl A
THe do 4 ST HH HHAIA oI gl

FROT (R): 3T 3A15 W FA TIASNT 1T HT #7015 & v
T Tehlal o ToIT Teh WeN hT HT 3UeT fRAT ST GehaT &

Options:

1. = A ¥R R gl @¥ & 3k R, A ST 9T =TTEAT &




2.« A 3T R AT T § oifereT R, A T TcT SITEAT =T8T &l
3. » A O & ofhad R 38T &I
4. v A 3T & AfFaT R a7 &I

Question Number : 20 Question Id : 54592740622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following number series:

120, 211, 338, 507,

Options:

1. = 686
2. % 850
3. =729
4. v 724

Question Number : 20 Question Id : 54592740622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEd dear s@er ST Q@ +i:

o,

120, 211, 338, 507/,

Options:

1. = 686
2. = 850
3. % 729
4. v 724

Mental Ability?2

Group Number : 2
Group Id : 5459272012



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability?2
Section Id : 5459272012
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272414
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592740623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong number in the following number series:

729, 1215, 2025, 3375, 5425

Options:

1. = 1215
2. % 2025
3. = 3375
4, v 5425

Question Number : 21 Question Id : 54592740623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frafoad Tear sEer # & Ted F&IT AT -

729, 1215, 2025, 3375, 5425

Options:

1. = 1215
2. = 2025
3. = 3375
4. v 5425

Question Number : 22 Question Id : 54592740624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

1.32:0.0132::1.02:7

Options:

1. = 0.102
2. % 0.00102
3. = 1.012
4. v 0.0102

Question Number : 22 Question Id : 54592740624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T T HT ST AT J&IT H 30T TR 8 Td&rad
¢ o 9 8 ugell & qEdl §8AT 8 FEidd g

1.32 : 0.0132 :: 1.02 : 7?

Options:



1. = 0.102
2. = 0.00102
3. = 1.012
4. v 0.0102

Question Number : 23 Question Id : 54592740625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

215, , 289, 321, 363, 395

Options:

1. = 258
2. % 232
3. v 247
4. = 261

Question Number : 23 Question Id : 54592740625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

feTTaT J&ar 4&enr | oI TEAT I ATT FL

215, , 289, 321, 363, 395

Options:

1. = 258
2. » 232
3. v 247
4. = 261

Question Number : 24 Question Id : 54592740626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the missing number in the following number series.

132, 156, , 210, 240, 272

Options:

1. = 176
2. v 182
3.= 191
4 % 184

Question Number : 24 Question Id : 54592740626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeFafTaT a&ar g&enr A oI TEAT I ATT R

132, 156, , 210, 240, 272

Options:

1. = 176
2. v 182
3. = 191
4. = 184

Question Number : 25 Question Id : 54592740627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

285, 475, 665, , 1045

Options:

1. = 745
2. % 845
3. v 855



4. = 795

Question Number : 25 Question Id : 54592740627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFITTaT J&ar 4&enr # Gk TEAT T ATT FL

285, 475, 665, , 1045

Options:

1. = 745
2. % 845
3. v 855
4. = 795

Question Number : 26 Question Id : 54592740628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If X -y <z-w,then which of the following is true?

Options:

l.xX-w>y-2
2. X+tW>y-7Z
J.vX+tW<y+2z
4 % Z-X<y-W

Question Number : 26 Question Id : 54592740628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I x -y <z -w g d Teafe@a # @ i a1 T &7

Options:

1. * X -w>y -2
2. X +w>y-2Z
J.vy X +tw<y+ 2z

4. % z - X <y - W



Question Number : 27 Question Id : 54592740629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rakesh built a fence around his square plot. He used 32 fence
poles on each side of the square. How many poles did he need
altogether?

Options:

1. = 128
2. % 120
3.v124
4. % 96

Question Number : 27 Question Id : 54592740629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THReT o el FINHR HWS & TRT 3N Teh &1 Tl T 3Ha
gl & Tl B 32 §13 F Tel FT FEAATS RhATI 38 Fel
forder TET T 3MaeThdar o417

Options:

1. = 128
2. = 120
3. v 124
4. = 96

Question Number : 28 Question Id : 54592740630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average age of a group of 8 people is 24 years. If one
member from the group is excluded, the average becomes 23
years. What is the age of the member that was excluded?

Options:

1. = 23 years
2. % 32 years



3. v 31 years
4. = 28 years

Question Number : 28 Question Id : 54592740630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8 aNe & THE T AT I 24 ¥ &1 I THE & UF T
T STEL foRaT ST &, 3T g 23 a¥ g Sl &1 36 Herd
T 3 47 & ford smeT foham amam o

Options:

1. = 23 @¥
2. % 32 a¥
3. v 31 @y
4, = 28 ¥

Question Number : 29 Question Id : 54592740631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which two numbers should be interchanged to make the
below equation mathematically correct?

Tx26+32+2-15=222
Options:

1. v 26, 32
2. % 7,15
3. % 26,15
4 %7, 2

Question Number : 29 Question Id : 54592740631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



s U 7T FATRIOT FY AUCERT FT & TgT Fellel o olw fohet
2l GEIT3T Y TWEW TATATART AT SATar I1ige?

7 x 26+ 32+ 2-15 =222

Options:

1. v 26, 32
2. % 7,15
3. = 26, 15
4. = 7, 2

Question Number : 30 Question Id : 54592740632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Venn diagram given in the question represents the
relationship between the items given in which of the
following options?

@0

Options:

1. = cows, buffaloes and cattle
2. = tables, sofa and furniture
3. » games, cricket and tennis
4. v Saturn, planets and stars

Question Number : 30 Question Id : 54592740632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



goaT 7 8T =T 39 INT farfofag & O g fOreT & 2T
T FEIN F AT F FEY R AT §?

©0

Options:

1. = g, #9 3T #Ag

x Fl, EHT 3T Bl
3. = Tel, fohehe 3N o
4. v ofa, T8 3N aR

Question Number : 31 Question Id : 54592740633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I asked the members of my extended family what were their
hobbies. The results of this finding are shown in the following
Venn diagram. How many of my family members have
singing or dancing as their hobbies but NOT reading?

Dancing Singing | U=80

Options:

1. = 12
2. % 27
3.v 38
4 % 44

Question Number : 31 Question Id : 54592740633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Het 37et AEART TRAR & Gewdr & g1 & o offw w7 §
| 9 Fel & URUMHA TdedToll&d dd 3RT A @0 v &1 ;Y
TRAR & Tohclel TEGET T AT e & 2Alehlel § olfehel Tt

el 87

e

Uged

Options:

1. = 12
2. % 27
3. v 38
4. = 44

Question Number : 32 Question Id : 54592740634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In this question, two statements are given followed by an
inference. Analyse the statements and the inference and
determine whether the given inference can be drawn from
the statements.

Statements:
I. Every dog eats meat.

II. Tommy eats meat.

Inference: Tommy is a dog.

Options:



1. = The given inference is definitely true.
2. = The given inference is definitely false.
3. v The given inference could be true or false.

4. = This inference cannot be drawn from the given
statements.

Question Number : 32 Question Id : 54592740634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 Ul H, & FUAl F G Uk IHefATel ST ST &1 Fdail
3N 3egATer HT faeelvor T 3R fFuiRa & f& fou o
ATl I FdeAl T fARTel ST TRl & AT LTI

e
. & el AT JTaT &1
|I. STAT AT FTdT|

3TeTHTT: AT T el =y
Options:

1. » TSIT 9= HeTATST T Y

2. « e R AT ARET ¥ @ 36T T
3. v e I/ AT T AT AT & Fehll &
4_wagyﬂmaﬁ'vmwﬁﬂﬁlaﬁm

Question Number : 33 Question Id : 54592740635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Nanhe went fishing in a lake. He started rowing straight
towards East. After going for 2 km straight, he turned right
and rowed for 3 km straight. Then, he turned right and rowed
straight for 2 km and stopped. How far is Nanhe from the
starting point?

Options:

1. = 2.7 Km
2. % 5 km
3.« 7Tkm
4. v 3 km

Question Number : 33 Question Id : 54592740635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sdog 3ol H FAGoll Uhgal AT AT g8 1Y g I 30 Va0
FLel SR 2 km Y STl F 915, I8 Fligalr 3T T3 I14T 3T
3 km T Fa @@ T, T8 % 3T FS 9177 3R TS 2 km
T SITRY Bk ART| wleg E3TMaT foig & fovetalr qr &7

Options:

1. = 2.7 km
2. » 5 km
3. = 7 km
4. v 3 km

Question Number : 34 Question Id : 54592740636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options is the wrong figure in the
series?

+ X1 ol+ - %
oT - L0  |OT -
-1-0 +|x -0
a b C d




Options:

1. = A
2. % B
3.5 C
4.vD

Question Number : 34 Question Id : 54592740636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFafofEd # @ il T ehed STl H el 3Thid &7

+ |1 oo+ = *

oT = LO = |OT =
-|-0 +|% -0

a 5] C d

Options:

1. = A

2. = B

3. = C

4. v D

Question Number : 35 Question Id : 54592740637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

PN
NN
NK

1. = (1O

&
1
AN

N
1 U

N [N




4« ANON

Question Number : 35 Question Id : 54592740637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few v fGwredt & &, deT v AT ek & AT &

&TeliTeh, Ueh Taeheq 3ed died T ol el &1 39 [reT &
T Y Sl 3ed & 376 gl

Options:

AN
NNO
N




Question Number : 36 Question Id : 54592740638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Each option has a pair of figures. Three are similar in a
certain manner. However, one option is NOT like the other
three. Select the option which is different from the rest.

Options:

4. vt

Question Number : 36 Question Id : 54592740638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ucdeh TOhed H 3THRRI hl Tk SNET &1 dia v afeaa alies
O TATT &1 ETellleh, Ush [@heq 370 dlel bl i@ &l &l 39
fahed T TIA R ST 3T & 36T gl

Options:
ol

2. = A U




5. . (@) A

4 v Ii_ ____'J

Question Number : 37 Question Id : 54592740639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following answer figure completes the pattern
shown in the question figure?

Bl R
A==l

\%
B>




Question Number : 37 Question Id : 54592740639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAetfel™@T & @ $led @ 3cav 3pla g2 3MFfd A @iv v
Yool ol I T

SO
A B
P A

Options:

- &

Question Number : 38 Question Id : 54592740640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If a cube iIs painted blue on two opposite sides, red on another
two opposite sides and green on the last two opposite sides
and cut into 64 smaller cubes, then how many such smaller
cubes will have atleast one side painted red?

Options:

1. v 32
2. % 106
3.% 24
4, % 40

Question Number : 38 Question Id : 54592740640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE Uk °eT T r [FuRT 9a i drel W7 & T[T S &, 367
e & T9URT 98T & orel o7 F 9T d|d|%’3ﬂTa?T§cfa’r
faafra g&ft Y & 97 F W AT £ 3T 39 64 BT

TR gl H e AT STar &, df V8T fohdell ST gelrep il
H FH & FH U U& 9T oflel LT BIET?

Options:

1. v 32
2. % 16
3. % 24
4. = 40

Question Number : 39 Question Id : 54592740641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Parts given in which option can be joined to create the
pattern given in the question figure?

Options:

Question Number : 39 Question Id : 54592740641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



wes 3Hfd H AT a0 ¥t &1 dara & fovw Hia & foheq &
f&ed SN2 ST @ahd &7

Options:

Question Number : 40 Question Id : 54592740642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find out from amongst the four alternatives as to how the
pattern would appear when the transparent sheet is folded at
the dotted line.

o\
Z\
i

Options:

1. vIl=

Question Number : 40 Question Id : 54592740642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IR fdshedt # & I8 A w6 Hegr 3@ W aredl sere
$T Aga T Yo AT femrs am

o N
Z\
i

Options:

N

4, = | =l
General Awarenessl

Group Number : 3
Group Id: 5459272013
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time: 0



Group Marks: 20

IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessi

Section Id : 5459272013

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272415
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592740643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these musical instruments is one of the oldest
bowed instruments of India in which one has to press the
fingernails of the left hand against the strings?

Options:

1. = Sarod
2. v Sarangi
3. = Sitar

4. = Guitar

Question Number : 41 Question Id : 54592740643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ZAH A hid AT HIAIT qEIAT W & T Wl A &0
amﬂﬁﬁw%ﬁﬂﬂﬁwﬁaﬁwma:mﬁm
Y SHTIT BT &7

Options:

1. » WG




2. v GIET
3. » aR
4. = @R

Question Number : 42 Question Id : 54592740644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is a popular folk dance performed in Kumaun
region of Uttarakhand?

Options:

1. » Ghoomar
2. » Kathakall
3. » Dandiya
4. v Chholiya

Question Number : 42 Question Id : 54592740644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ZTH F e AT ST ollh 3fcd 3caT@S & FAY & H
forar Srar &7

Options:

1. = g

2. % HAUbolN
3. = gIfsar
4. v BRI

Question Number : 43 Question Id : 54592740645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Lord Jagannath, Lord Balabhadra and Goddess Subhadra, of
the main Jagannath temple of Puri, are removed with the
celestial wheel and taken to their respective chariots during
which festival?

Options:



1. = Losar

2. v Rath yatra
3. = Holi

4. » Sankranti

Question Number : 43 Question Id : 54592740645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forer e & divrer, qf & HET Seeery AT F e
STTealTe, T3TaTel Serels, 3 a7 FaTaT T Fallellg IiedT |
&CThY IoTeh Ta A T deh o ST SIdT 87

Options:

1. % oY
2. v I99mET
3. » glell
A EAI

Question Number : 44 Question Id : 54592740646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The supposed spot where the Jatayuy, the bird from Ramayan
lay after being attacked by Raavan is named as

Options:

1. = Virupaksha
2. = {annanore
3. v Lepakshi
4. = Lumbini

Question Number : 44 Question Id : 54592740646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ATl SATal TTelT TATA STET STETy, ITHTIOT H 3Ieoll@d gar Tgor
ZaNT U8R el o d1¢ #AL ST g, 39

a1H e = &

Options:
1. = dIETeT
2. ® Shaoll
3. v oure
4.« o

Question Number : 45 Question Id : 54592740647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which was the first bank to introduce ATM in India?

Options:

1. » AXis Bank

2. = ICICI Bank

3. = Indian Overseas Bank
4, v HSBC Bank

Question Number : 45 Question Id : 54592740647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT # ATM [F Flal dlell TgaT sk Flel AT &AT?

Options:

1. = Ufaa &+

2. = ISUBEHRE S
3. » 3f3TeT 3NaEIT
4. v TAUHEET s

Question Number : 46 Question Id : 54592740648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Which of these is not a factor used in the determination of
Gross Domestic Product?

Options:

1. = Consumption
2. v Tax rate

3. * Investment
4. = Net Exports

Question Number : 46 Question Id : 54592740648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

famar A @ Flef AT FRF Feohel T 3cUTE & TeaToT # GgFd
dal RaT STaT &7

Options:

1. % @de

2. v ®T T
3. = fader
4. » & Tordte

Question Number : 47 Question Id : 54592740649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is usually measured as the ratio of aggregate
output (e.g., GDP) to aggregate inputs?

Options:

1. = Economic Efficiency

2. v Total Factor Productivity
3. # Statutory Liquidity ratio
4. = Economic Power Index

Question Number : 47 Question Id : 54592740649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



S T Flel TT MAIN T Fel FTaAYC & Fel M3 (a0,
GDP) & 39T & &4 H ATAT ST §7

Options:

1. = 3TTF S&Ta

2. v Fel &k Scareehd

3. » @IATEeh AT 3HeguTd
4. = 37T afefd Faehleh

Question Number : 48 Question Id : 54592740650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A seesaw 1s an example of a

Options:

1. v lever

2. % gear
3. x accelerator
4. = brake

Question Number : 48 Question Id : 54592740650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dr-ar e T U 30T &

Options:

1. v ol
2. = [T
3. » TFHeNeT
4, = Sk

Question Number : 49 Question Id : 54592740651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

During a Solar eclipse

Options:




1. v Moon casts shadow on the earth
2. » Sun casts shadow on the Earth
3. = Moon casts shadow on the Sun
4. = Earth casts shadow on the moon

Question Number : 49 Question Id : 54592740651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qF TET & SN |

Options:

1. v IEAT g2d) W SR STodl &

» I Yedl W ST STeldl §

2.
3. * USHAT I W BT STelell &
4. = gl IGAT W ST STeldl &

Question Number : 50 Question Id : 54592740652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these metals undergo oxidation and "Rust”?

Options:

1. » Mercury

2. v Iron

3. » Aluminium
4. » Tungsten

Question Number : 50 Question Id : 54592740652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ZAH W hie AT GT JTFAERLOT AT "SI & ToT 87

Options:

1. = ORI

2. v olam
3.%‘3?%%@




4, = TIEEA

Question Number : 51 Question Id : 54592740653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Banana belong to which category of plants?

Options:

1. v Herb

2. = Shrub
3. = {reeper
4. = Tree

Question Number : 51 Question Id : 54592740653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el fr A0 & Ol & Fefad &7

Options:

1. v SIS
2. % &1

3. = odrl
4. = Ug

Question Number : 52 Question Id : 54592740654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these contain Chlorofluorocarbons?

Options:

1. = Moisturiser

2. v Aerosol sprays
3. = Eye shadow

4. = Mascara

Question Number : 52 Question Id : 54592740654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SolH & TohdH FollIFelRIhIse &l &7



Options:

1. = HisTaISol
2. v TIEe I
3. = S 3T

4. = FEHT

Question Number : 53 Question Id : 54592740655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Every year November 19th is celebrated as

Options:

1. * World Health Day
2. » World Sanitation Day

3. » World Cleaning up day
4. v World Tollet Day

Question Number : 53 Question Id : 54592740655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& ol 19 ddsY &l F T H AT JATAT &l

Options:

1. = Tgeg @y fead
2. = Tdeg Tawodr Teaq
3. = faeg gwre fGow

4. v feg etrerr fead

Question Number : 54 Question Id : 54592740656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these has been set up to attract Corporate Social
Responsibility (CSR) funds from Corporate Sector and
contributions from individuals and philanthropists to
improve sanitation in India?

Options:



1. ¥+ Swachh Bharat Kosh

2. = Clean Ganga Fund

3. » Make in India

4. = Rural Development Fund

Question Number : 54 Question Id : 54592740656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sAH O [ HURE dFel T 9HE TATATOIR 3calalRica

fafer &Y 3R e & fov 3 9T & Tawaar &1 8gaT
FgATel F TIT sFfFaAr 3T TYFRT AR & AT & v
TATUT TohaT 9T §7

Options:

1. v a5 HRd FIY
2. » TTe A ol
3. = A& 3o 34T

4, = FIATOT [Gerre AT

Question Number : 55 Question Id : 54592740657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is not a Reptile?

Options:

1. = Turtles

2. = Crocodile

3. = Snake

4. v Spiny Anteater

Question Number : 55 Question Id : 54592740657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ot & Fhor AT v AT A &7

Options:



1. » BT
-

2. % HINHATS

3.« @q

4, v TSI Veaed

Question Number : 56 Question Id : 54592740658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is not a major tributary of the Tapti River?

Options:

1. = Purna
2. v Reva

3. = Girna
4. = Panjhra

Question Number : 56 Question Id : 54592740658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ot & el T AT AT hT THE HERh o1ar w8l &7

Options:

1.« qof
2. v &
3. » Tom
4.« BT

Question Number : 57 Question Id : 54592740659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Durand Line is the border between Pakistan and which other
country?

Options:

1. * China
2. = Nepal




3. v Afghanistan
4. = India

Question Number : 57 Question Id : 54592740659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U8 IET dTierediel 3N fore der & s &r @rAT &7

Options:

1. = el
2. % oqrel

3. v HINTaEdTe]

4, = SRS

Question Number : 58 Question Id : 54592740660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is the location of the southernmost point of India’s
territory?

Options:

1. = Sir Creek

2. » Similan Islands
3. = Maliku Kandu
4. v Indira Point

Question Number : 58 Question Id : 54592740660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AT & &1 & Fod afarofr fog 1 Tumer wiaT @r 87

Options:

1. = ¥ foher
2. » Tafdere g9
3. = AfelF Fg

4. v 3T disc




Question Number : 59 Question Id : 54592740661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these soils is highly fertile and found in most
abundance in India?

Options:

1. = Laterite
2. » Black
3. v Alluvial
4. = Red

Question Number : 59 Question Id : 54592740661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

goH ¥ Hid AT HaT G4 399115 ¢ 3R 9T # Fad 31
FEaId H 915 ST &7

Options:

1. » oledse
2. % ShIall
S.JUF{%TIT»F
4. % ool

Question Number : 60 Question Id : 54592740662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is the most common tidal pattern, featuring
two high tides and two low tides each day?

Options:

1. = Diurnal Tides

2. » Mixed Tide

3. v Semi-diurnal Tide
4. = Tidal Bore

Question Number : 60 Question Id : 54592740662 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

SoH O hiel OT TaH ’H SaRT Yol g, oad i
3t vdN Wﬁ%ﬁmgﬁ?—ﬁ%’?

Options:

1. = STl SdN

2. « TAfIT =@

. v T-ERRAdT TR

3
4, » SN AT
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Question Number : 61 Question Id : 54592740663 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



Movements of water due to the differences in density as a
function of water temperature and salinity is called as
the

Options:

1. v Thermohaline Circulation
2. » Mixed Tide

3. = Tidal Bore

4. = Bernoulli's Principle

Question Number : 61 Question Id : 54592740663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

OTdT & dTIHAT AT SgoTdT o T & &9 H Holcd H Jd &
FHIUT FAT TTaAT shT T FET ST &

Options:

Question Number : 62 Question Id : 54592740664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A central area in a city that is heavily fortified during the
Indus Valley Civilizations was called as

Options:

1. » Seals

2. » Edicts
3. v (Citadel
4. » Granary

Question Number : 62 Question Id : 54592740664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



BT T Teh ey &7 S Y G1er Teacmsh & alrer sy
ERIE-RERIICIE 1] HEl ST 2T|

Options:

1. = deq
2. = Ulasc
3. v 9§

4. = YTedTIR

Question Number : 63 Question Id : 54592740665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Brihadeeshwara Temple was bulilt during the reign of
which of these dynasties?

Options:

1. » Pandya
2. = Pallava
3. v Chola

4. » Maurya

Question Number : 63 Question Id : 54592740665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gEaeaY AfGT T AT fohd T=Taer & eeTehlel & GNTeT T
=T AT?

Options:

1. % YOS

2. % Uceold
3. v el
4. « AR

Question Number : 64 Question Id : 54592740666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Kautilya served which of these emperors?

Options:

1. = Ashoka
2. * Siddhartha

3. v Chandragupta Maurya
4. = Rajendra Chola

Question Number : 64 Question Id : 54592740666 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

HIEeT o S8 & T THIE HT AT 17

Options:

1. % 37eNeRT

2. » &g
S.me
4.

Y y
® Llalg <llel

Question Number : 65 Question Id : 54592740667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Emilie Schenkl was the wife of which of these revolutionary
leaders?

Options:

1. = Raja Rammohan Roy
2. v Subhash Chandra Bose
3. * Maulana Azad

4. * Muhammad Ali Jinnah

Question Number : 65 Question Id : 54592740667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UTHeT 2ehel S O fohd SITdeRT adT T Ycail off?

Options:

1. = ol TAAIGT I




2.~f§‘a¢rsr€i';:a‘r\=r

3. = HieaT 3191

4. = FAGFAG 3ol Toleall

Question Number : 66 Question Id : 54592740668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Annie Besant and Lokmanya Tilak launched which
movement together?

Options:

1. = World Teacher Project

2. v All India Home Rule League
3. = Indian National Congress

4. = Fabien Socliety

Question Number : 66 Question Id : 54592740668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vell e 3R AT fdoleh o The 3fialolel s 2&3iel T o?

Options:

1. = fdeg fRvaTsh aRAraTar
2. v 3Tl 3T 81 &l o4
3. » HRAT TSLIA hlA
4, = Wiege HATSIATRG

Question Number : 67 Question Id : 54592740669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was one of the first female members of the Indian
National Congress and was shot dead during the Tamluk
Police Station March?

Options:

1. « Kanaklata Baruah
2. v Matangini Hazra



3. » Bhogeshwarl Phuknani
4. = Bhikaji Cama

Question Number : 67 Question Id : 54592740669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TS I hT Ugell ATGell &g ahiel 2T 30T fSwehr
AR Yol TRTe AT o NI Mol ANKY §eaT I a1 15
o7

Options:

1. % Shaleheldl S%3T
2. v ATAREAT &l
3. = emateaT Gehalall
4. » ATETST HTAT

Question Number : 68 Question Id : 54592740670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the only film maker to receive the Bharat Ratna?

Options:

1. = Yash Johar

2. = ]. P. Sippy
3. » Karan Johar
4. v Satyajit Ray

Question Number : 68 Question Id : 54592740670 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Icel UTal dTel UhATT Thed [@ATAT i &7

Options:

1. = J Sl
2. = of. dr. facdr

3. % IOT AL




4. v TSI T

Question Number : 69 Question Id : 54592740671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of these awards is the peacetime equivalent of the
Param Vir Chakra?

Options:

1. » Sarvottam Yudh Seva Medal
2. » Vir Chakra

3. » Maha Vir Chakra

4, v Ashoka Chakra

Question Number : 69 Question Id : 54592740671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ZAH ¥ FIT-AT RN WAIR Tk & 3RTdF Flel THATT 87

Options:

1.wﬂa’fﬁﬁgﬂﬁmm
2. » g Th
3. = Hgl A Tk

4. v 3Nk Tqh

Question Number : 70 Question Id : 54592740672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rani Lakshmi Bal Award is given away by the President every
year for

Options:

1. v Best Institution for Research & Development in the field
of women empowerment

2. = Best Private Sector organization/ Public sector
undertaking in promoting the well-being and welfare of
women



3. = Best Urban Local body for providing services and
facilities to women

4. = Best State which has appreciably improved Child Sex
Ratio (CSR)

Question Number : 70 Question Id : 54592740672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& dTel Tsguld ganT & folw air oT&Ar
S5 ERN e ST g

Options:

1. v HigeT TAFARIOT & 87 A 3Heggula AT fawg & fov
aATE Tt

2. = HAfgarst Fr gars 31T FeAor FY FE@T A F I
Taats fael 8T eaa/ardciiersh & T 3THA

3. = AT I QAU 3R FAUW yeiad Fa & foIv qaass
TET TUTAT Toeh

4. » gl foleT 3equTd (HIVHIR) F JIRA & 60 Faass T

Question Number : 71 Question Id : 54592740673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Bharatiya Jnanpith, a research and cultural institute
founded in 1944 by which of these eminent people?

Options:

1. v Sahu Shanti Prasad Jain

2. = Jawaharlal Nehru
3. » Indira Gandhi
4. = J.R.D.Tata

Question Number : 71 Question Id : 54592740673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SAH T Pl & TR Shfad of 1944 # TR ARUIS, Teh
aMer AT ArERiad FEUTel 1 TATIAT Fr o412

Options:

1. v |18 IGRGIFESG

2. = SIATEIolTol A®
3. = ST ameT
4. = ST.3L.3T. @Ter

Question Number : 72 Question Id : 54592740674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these has won the "Booker of Bookers™ and "Best of
Bookers" award?

Options:

1. = God of Small Things
2. = Lord of the Flies

3. = Great Gatsby

4. v Midnight's Children

Question Number : 72 Question Id : 54592740674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ZAH ¥ fohde "I 3 FhE" 3R "S¥C IH ghd" TWERT
ST &7

Options:

1. = s 3{% AT f2eq
2. = W5 3P g Farsd
3. » 3¢ degar

4. v THEATSCH Togel

Question Number : 73 Question Id : 54592740675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Who is regarded as the father of India’s nuclear science
program?

Options:

1. ¥ Homi Jehangir Bhabha
2. = Vikram Sarabhal

3. #= C.V. Raman

4. = A PJ. Abdul Kalam

Question Number : 73 Question Id : 54592740675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & AT [aATT FRIFH T Sah fhd AT Sar g7

Options:

1. v BIAT FAEENT HATHT
2. = fashre anrmeg

3. = HILALIAA

4. = TULS.37sgel FellA

Question Number : 74 Question Id : 54592740676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is not a Fundamental Right?

Options:

1. = freedom of speech and expression

2. = to move freely throughout the territory of India
3. = to form associations or unions

4. v Assembling carrying arms

Question Number : 74 Question Id : 54592740676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH § il &T U HAlTeler USR8l &7

Options:

1. = dliolel 30T 3ffFTFT T Tacdadr




2.+ Q¥ AN # Td9 §7 § FHAT
3. = Gl IAT YfATell & TSe
4. v BIAIW olehT STel hr TAFEA hldl

Question Number : 75 Question Id : 54592740677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who delivers the opening address for the first session of the
parliament, as well as the first session of a newly elected
government, defining the policies of the government?

Options:

1. » Prime Minister
2. v President
3. = Chief Minister
4. = Governor

Question Number : 75 Question Id : 54592740677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS o Tgel §F o ATI-GTT LR hl Alfadal sl IRATNT
W?WW?WWWWWW
adr g7

Options:

1. = UTel HAT
2. v UseUfa
3. » ATIHAT
4. = ITad9Tel

Question Number : 76 Question Id : 54592740678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Every Judge of the Supreme Court is appointed by

Options:



1. » Prime Minister
2. » Chief Minister
3. = Governor
4. v President

Question Number : 76 Question Id : 54592740678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TalTd «EGTeld & Ucdeh agrareiier shr
@ fagera foham Sirar &

Options:

1. % TgTel HAT

2.
3. = {<Td49Tel
4. v TSy

Question Number : 77 Question Id : 54592740679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Prohibition of discrimination on the grounds of religion, race,
caste, sex. Or place of birth is listed in which article of the
Constitution?

Options:

1. = Article 1
2. % Article 5
3. = Article 20
4. v Article 15

Question Number : 77 Question Id : 54592740679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HiduTel & fohe fefeae A od, Sifd, Sid-did, T ar ar
SleH TUTST & YN W HASHT & vy T Feg fham = g2

Options:




1. » 37e[eae
2. * 3oeoE b
3. = 3eeadg 20
4. v 3aedg 15

Question Number : 78 Question Id : 54592740680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who has won the most Grand Slam tournaments of any male
player in tennis history?

Options:

1. = Rafael Nadal

2. * Novak Djokovic
3. v Roger Federer
4. = Pete Sampras

Question Number : 78 Question Id : 54592740680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e gfdgr # Tordr off 7oy femsT & qod 3ifaew s worr

1. = THIT dsTdl

LY LY LY
2. % oldleh Sllhlldx]

3. v T B

4. = Ulc GFEITH

Question Number : 79 Question Id : 54592740681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the first Indian female wrestler to win an Olympic
Medal?

Options:



1. = Babita Phogat
2. = Geeta Phogat
3. = Karnam Malleshwari
4. v Sakshi Malik

Question Number : 79 Question Id : 54592740681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AMeIlUss Ugah Side arell Ugell RO ATgell Ugeldlel shial &7

Options:

1. = ST BRI
2. = 3T BT
3. = HUTH Heoleddl
4, v Gr&r Afelh

Question Number : 80 Question Id : 54592740682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the first recipient of the Khel Ratna Award?

Options:

1. = Kapil Dev

2. » P.T.Usha

3. » Milkha Singh

4. v Viswanathan Anand

Question Number : 80 Question Id : 54592740682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bl Tcad T T Tgel UTCehdl ahlel &7

Options:

1. = Shidel 24
2. = UL.AT. 3o
3. = THo@r &8




4. v egaTas 3eg

Arithmetic Ability1
Group Number : 5
Group Id : 5459272015
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459272015
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272417
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592740683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the number, when 13 is subtracted from 6 times the
number, the result is 5 more than 4 times the number

Options:

1. = 10
2.% B
3.8 7
4.v9



Question Number : 81 Question Id : 54592740683 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIS 13 T 6 I TEIT H "EAT AT &, AF TROMA 4 I
HqEAT § 5 e 3fUe glaT &, 98 §EAT AT |

Options:

1. = 10
2. » 6
3. % 7
4. v 9

Question Number : 82 Question Id : 54592740684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the greatest number by which on dividing 3431 and 4628
leaves remainders 4 and 9 respectively.

Options:

1.+ 149
2. % 137
3. =119
4. % 97

Question Number : 82 Question Id : 54592740684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3431 3N 4628 & AHIoid Fa W T8 37 G&IT HAT: 4
AT 9 Y TEAT T F&AT AT L7

Options:

1. v 149
2. = 137
3. = 119
4. = 97




Question Number : 83 Question Id : 54592740685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the HCF of 1012 and 1196.

Options:

1. = 575
2. % 299
3. =414
4. v 92

Question Number : 83 Question Id : 54592740685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1012 3T 1196 &7 HgcdH THAUGI® (HCF) ATa Siieid|

Options:

1. = 575
2. % 299
3. % 414
4. v 92

Question Number : 84 Question Id : 54592740686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the least number which will leave remainder 6 when
divided by 12, 8 and 20.

Options:

1.+ 126
2. % 120
3. 114
4. = 108

Question Number : 84 Question Id : 54592740686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FH T FH T&IT AT HIaw A1 12, 8 3w 20 @ wfaa g
U7 A 6 I DI 9




Options:

1. v 126
2. = 120
3. = 114
4. = 108

Question Number : 85 Question Id : 54592740687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the largest five digits number exactly divisible by 15, 18,
24 and 27

Options:

1. = 99989
2. v 99360
3. = 99729
4. % 99657

Question Number : 85 Question Id : 54592740687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

15, 18, 24 3 27 Zanr fawTeT s 85I 9T 3{ehl T T&AT
AT

Options:

1. = 99089

2. v 99360

3. = 99729

4. = 99657

Question Number : 86 Question Id : 54592740688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A red light blinks on a device every 36 seconds. Another red
light blinks on another device every 56 seconds. Right now the
time 1s 11:24 am. At what time exactly will they blink
together?

Options:

1. = 11:30:18 AM
2. v 11:32:24 AM
3. % 11:29:42 AM
4. » 11:31:36 AM

Question Number : 86 Question Id : 54592740688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&7 36 Ahg H Uk IT WX Tl Scdl oTeldT &l Tk 3T orel
Scdl & 56 ks H UF Hed IF W Foldl ol 3T IFT 11:24
valed &1 fhd AT @ Tk T Sfeldlr ?

Options:

1. = 11:30:18 gafeat
2. v 11:32:24 yaligat
3. » 11:29:42 yaigat
4. = 11:31:36 yaiga

Question Number : 87 Question Id : 54592740689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of: (0.0016 + 0.0044) x 6.25 =7

Options:

1. = 0.375
2. v 0.0375
3. = 0.0275
4. % 0.275




Question Number : 87 Question Id : 54592740689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(0.0016+0.0044) x 6.25 = ? hT HIA AT Hl|

Options:

1. = 0.375
2. v 0.0375
3. = 0.0275
4. = 0.275

Question Number : 88 Question Id : 54592740690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a club there are male and female members. If 16 females
quit the club then number of females is thrice the number of
males. And if 36 males quit then the number of females is 5
times the number of males. How many female members are
there in the club?

Options:

1. = 210
2. % 250
3. = 360
4, v 310

Question Number : 88 Question Id : 54592740690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk Fols H IEY 3 AfgeT T §1 Il 16 Al Fold D13
T & v Afgemsit hr FEAT TENT T FEAT F dlel A &1 R
TfE 36 Y BIF 4 A Afgemsil T AT TEN HT T&AT T 5
AT &1 Foid H fohcall Afgell TeEg 87

Options:

1. = 210




2. = 250
3. = 360
4. v 310

Question Number : 89 Question Id : 54592740691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average temperature from Sunday to Tuesday was 30
degree Celsius. And the average from Monday to Wednesday
was 35 degree Celsius. If the temperature of Wednesday was
2/3rd of Sunday, what was the temperature of Wednesday?

Options:

1. v 30 degree Celsius
2. = 28 degree Celsius
3. = 31 degree Celsius
4. = 35 degree Celsius

Question Number : 89 Question Id : 54592740691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IO & AAR deh T 3HGd d9ATe 30 =T dfeaaa o)
3R AR & FUaR aF w1 Ea 35 39 afeww oam afg

FYI T ATITHT] A o1 2/3 ar e, FEAIT T JTIHTT F1
qT?

Options:

1. v 30 T3 afeasa
2. % 28 f3air afeoaw
3. = 31 133 afcaaw
4. » 35 3o afcaaw

Question Number : 90 Question Id : 54592740692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Three numbers which are co-primes to each other are such
that the product of the first two numbers is 1517 and the last
two numbers is 2173. Find the sum of the last two numbers
subtracting the first number obtained?

Options:

1. = 61
2.v 57
3. % 47
4. %71

Question Number : 90 Question Id : 54592740692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

diel TEITT ST TB-3HTT &, UAr & o5 ugoll &F I&amait &
ATl 1517 & 3 AfAHA a7 FEITHT FT JUTeThel 2173 &
mmmwmymaawﬁwwﬁ
FL?

Options:

1. = 61
2. v 57
3. = 47
4. = 71

Question Number : 91 Question Id : 54592740693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 Jar of honey costs Rs 190. A pack of 4 jars costs Rs 608. What
1s effective discount % on the pack?

Options:

1. = 25%
2. % 15%



3. v 20%
4.« 10%

Question Number : 91 Question Id : 54592740693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 S e1&S hT hTAT 190 TUT &| 4 AR & U Yah hl hlAd
608 TV §| Yk 9T wHTET He Thdad % &7

Options:

1. = 25%
2. = 15%
3. v 20%
4. = 10%

Question Number : 92 Question Id : 54592740694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average salary of a person from Jan to April is Rs 8500
and that for Feb to May is Rs 9400. If his salary for May is Rs
7900, then find his salary for Jan?

Options:

1. = 5200
2. % 3900
3. = 6100
4, v 4300

Question Number : 92 Question Id : 54592740694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STTaT & el I Teh =gid T 3ad dde 8500 9T & 3T
Wal & A% & &g 9400 sUv & Ifg A% & ToIv 391 dad
7900 9T &, dI ST & TolT 3T add Eel?

Options:




1. = 5200
2. = 3900
3. = 6100
4. v 4300

Question Number : 93 Question Id : 54592740695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of 6 numbers 1s 945. If the average of the first three
numbers is 116 and the fourth number is 140, then find the
average of the last two numbers?

Options:

1.v 2285

2. % 208.75
3. % 196.25
4. % 272.55

Question Number : 93 Question Id : 54592740695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

6 TEATHT T AT 945 &1 TTE Ugelr died TEATHT a1 3iad
116 & 3T Tty gwar 140 &, ar dfax ar gt &1 3dua
FATT FL?

1. v 228.5
2. = 208.75
3. = 196.25
4. = 272.55

Question Number : 94 Question Id : 54592740696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



X and Y's salaries together amount to Rs 6000. X spends 75%
of his salary and Y spends 65% of his salary. If both their
savings are same then what is X's Salary?

Options:

1. = 2000
2. % 2600
3. v 3500
4. = 4100

Question Number : 94 Question Id : 54592740696 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X MT Y T adeT T 1T 6000 UV &1 X HTeT ade T 75%
AT Y 3Us 3de FT 65% T LT &1 IiG IThT §9d alel
AT & ar X &7 dded 4T &7

Options:

1. = 2000
2. = 2600
3. v 3500
4. = 4100

Question Number : 95 Question Id : 54592740697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an examination 32% students failed in Maths and 41%
failed in English 25% students failed in both subjects. The
percentage of students fail is:

Options:

1. = 98%
2. v 48%
3. # 41%



4. % 59%

Question Number : 95 Question Id : 54592740697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh TIET H I0id 7 32% BT JHTH §U3ﬂT34?iGﬁﬁ41%

BT %ol gu, 25% o1 arar T # M9 % Ul 3THTS BTl
T gfaerd &:

Options:

1. = 98%
2. v 48%
3. = 41%
4. = 59%

Question Number : 96 Question Id : 54592740698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A salesman’s terms of remuneration was changed. Instead of
a flat commission of 6% on all sales, he will now receive Rs
1000 plus 2% commission on all sales exceeding Rs 5000. If he
earns Rs 500 more in the new regime, what were his sales
worth ?

Options:

1. v Rs 10000
2. » Rs 12900
3. * Rs 6800

4. » Rs 15600

Question Number : 96 Question Id : 54592740698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uk faehar T arisfEe Fr e sger & 5| Tl SR W 6%
F Tk Told FHAIGT & Fo1d, dg Ja 5000 T & 3T Hr
foshr 9T 1000 TUv 3T 2% FARE weg F9M I 98 7%

gGEAT H 500 TUCT TR FATAT &, dr 3TepT ToshT =hl AT
T oA

Options:

1. ¢ 10000 BUv
2. = 129800 »z9v
3. = 6800 T4UT
4. = 15600 zUvw

Question Number : 97 Question Id : 54592740699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man purchases 10 pens for Rs 7 each and sells 9 pens For Rs
9 each. What is the profit/loss percent (approx)?

Options:

1. » 23.24%
2. % 57.67%
3. % 28.56%
4. v 42.86%

Question Number : 97 Question Id : 54592740699 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh GAT 7 3¢ H 10 97 ZHgar § 3R 9 390 & 9 U
ST &1 ITH/ETTT Ufrerd (SleTs1en) T &7

Options:

1. = 23.24%
2. = 57.67%




3. = 28.56%
4, v 42.86%

Question Number : 98 Question Id : 54592740700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rajan mixed 32 kg butter costing Rs 148/kg and 48 kg butter
costing Rs 192/kg. At what price should he sell to be able to
make a profit of 35%?

Options:

1. » Rs 232.64
2.v Rs 235.44
3. % Rs 252.92
4. % RS 228.72

Question Number : 98 Question Id : 54592740700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ITolel & 32 kg HFE T hiAd 148 ¥uU/kg 30T 48 kg HAFEA
FT AT 192/kg FT ATST FRATI 35% FT oTH FATE 7 TEH
glel & folv 38 fohd Hed 9T S<iell T1ge?

Options:

1. » 232.64 ®qC
2. v 235.44 TUU
3. = 252.92 34U
4. = 228.72 TUU

Question Number : 99 Question Id : 54592740701 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



After allowing a discount of 15% on the marked price, the
selling price of the article is Rs 6800. If it was sold at marked
price, then the profit percent would have 60%. What is the
cost price of the article?

Options:

1. = Rs 6400
2. » Rs 5200
3. v Rs 5000
4, » Rs 4200

Question Number : 99 Question Id : 54592740701 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7o 7T 15% 1 e HT AT dot & 1, T€&T T
fashd Hedr 6800 %UT §| Ife 38 RIEad Hea o &= 7137 o,
T ey TAerT 60% @AM T T WAWEIT Hed FT &7

Options:

1. = 6400 ®UC
2. = 5200 B4vU
3. v 5000 z4v
4. = 4200 B4UU

Question Number : 100 Question Id : 54592740702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A mixture of aluminium and zinc are in the ratioof 3 : 4. If 5
kg of zinc is added, the ratio changes to 3 : 7. Find the
gquantity of aluminium in the mixture?

Options:

1. = 6 kg
2. % 5.5kg
3.v5kpg



4, = 4K

Question Number : 100 Question Id : 54592740702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TefATAIA AT SEd T fAH0T 3 @ 4 & 37 A gl IS 5
kg STEAT ST ST &, df 3feqdrd 3 : 7 & Seol SIar g1 f#&smor
7 TeTATATA HT AT R AT FL?

1. » 6 kg
2. = 55 kg
3. v 5 kg
4. = 4 kg

Arithmetic Ability?2
Group Number : 6
Group Id: 5459272016
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 5459272016
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section 1d: 5459272418
Question Shuffling Allowed : Yes

Question Number : 101 Question 1d : 54592740703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A fort of 2000 soldiers had food provisions for 50 days. After
10 days some of them left the fort for holidays and the food
now is enough for 50 days. How many soldiers left?

Options:

1. = 200
2. » 300
3. v 400
4. = 600

Question Number : 101 Question Id : 54592740703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2000 #farept o Uk forel & 50 AT o ToIw ST &7 ST oT
| 10 Tt & o 3d & Fo o ofedl & v f&a #1 o3

fear 3T 319 50 feat & ow 9 uaiea & fraer dfaes <o
>

Options:

1. = 200
2. = 300
3. v 400
4. = 600

Question Number : 102 Question Id : 54592740704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If (X + Y)A(2X +Y) = 4/5, then find (2X + Y)/A(3X + Y)?

Options:

1. = 4/5



2. % 6/7
3. = 3/4
4. v 5/6

Question Number : 102 Question Id : 54592740704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR (X + YV2X + Y) = 45, @ (2X + Y)(3X + Y) &I A
L7

Options:

1. = 4/5
2. = 6/7
3. = 3/4
4. v 516

Question Number : 103 Question Id : 54592740705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money is invested for one year at a certain rate of
simple interest. If the interest rate is 4% higher then the
investment will have earned 20% more than the interest
earned at the earlier rate. What is the earlier interest rate?

Options:

1. % 22%
2. v 20%
3. % 26%
4. % 18%

Question Number : 103 Question Id : 54592740705 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HTIROT TSl hl Teh (T80T g7 I Ueh a¥ o folv &eT a7
forder foraT STaT &1 Ife =TT &T 4% 3T & dr Toigder ggel
HT e T 3Toid ST T 20% 31Tk 37Teld BT Ugel shl &ATol
g T &7

Options:

1. = 22%
2. v 20%
3. = 26%
4. = 18%

Question Number : 104 Question Id : 54592740706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the C.I on Rs 62500 for 9 months at 16% p.a. compounded
quarterly?

Options:

1. = Rs 6350
2. » RS 8945
3.+ Rs 7804
4. » Rs 6161

Question Number : 104 Question Id : 54592740706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

16% vl a¥ v faAEr @ 9 Al & foiv faaAEr Tsrglg ™

62,500 $YV T TohglE SISl AT |

Options:

1. = 6850 ®4U¢
2. » 8945 34U
3. v 7804 34U




4. = 61671 TUC

Question Number : 105 Question Id : 54592740707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In what time will the simple interest on Rs 400 at 10% p.a. be
same as the simple interest on Rs 1000 for 4 years ta 4% p.a.?

Options:

1. = 2 years
2. % 3 years
3. v 4 years
4. = b years

Question Number : 105 Question Id : 54592740707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forder AT A 400 390 10% wufad gy ATYIRUT sIT<T &7 &,
1000 39T 4% 9Ufad ¥ TUNOT Ao &7 F 4 Y o sIel a1n?

Options:

1. = 2 @y
2. = 3@y
3. v 43¥
4, = 6 Ty

Question Number : 106 Question Id : 54592740708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two trains each 320 m in length are running on parallel line
in opposite direction with the speed of 95 kmph and 85kmph
respectively. In what time will they cross each other?

Options:

1. » 11.9 sec
2. v 12.8 sec
3. = 13.1 sec



4, = 8.9 sec

Question Number : 106 Question Id : 54592740708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

320 m o&T g IeEnfsAT FAT: 95 kmph 3T 85 kmph T a1t

& AT AR f&em # Ie Wr &) 79 q79 # 3 T g
T IR FEAT?

Options:

1. * 11.9 "Fs
2. v 12.8 Oz
3. = 13.1 O3
4. % 8.9 TFs

Question Number : 107 Question Id : 54592740709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two cars are moving towards each other. They are 16 kms
apart and are moving at the speed of 64 m/s and 36 m/s
respectively. After how much time do the cars meet?

Options:

1. = 1 min 40 sec

2. 3 mins 15 sec
3. = 4 mins 35 sec
4. v 2 mins 40 sec

Question Number : 107 Question Id : 54592740709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

&l HR TH-GEY T 3 9§ & &1 9 16 kms T & 3 FA
64 mis TAT 36 mis T T & 33 §¢ 18T &l el PR Teh
iR & fohae gAY & s1e [Herdr &7

Options:



1. » 1 Ade 40 QFs
2. » 3 fAdec 15 Qs
3. = 4 fAsc 35 A%3
4. v 2 TAdc 40 @3

Question Number : 108 Question Id : 54592740710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Reena travels from point X to y in a car and returns From Y to
X 1n a cycle taking 7 hours in the entire journey. If she had
used car both ways she would have been able to save 3 hours.
What is time taken to cover both ways by cycle?

Options:

1. = 13 hours
2. = 11 hours
3.+ 10 hours
4. = 14 hours

Question Number : 108 Question Id : 54592740710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fiom voh R A fog X & y T Mcr § 3R T Fo 7 6
SR BT @Tsfohel & Y & X & el &1 I a8 gl RE &
R &I SEJATA hLal dl g 3 g §aT dehal AT TSRl
ZANT alel a & 3Mgd el & 0 Fhdell &g F319m?

Options:

1. = 13 =
2. % 11 €
3. v 10 g
4. = 14 €&




Question Number : 109 Question Id : 54592740711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can do a piece of work in 20 days. He work for 4 days and
then B finishes it in 12 days. In what time would A and B
together be able to finish the work?

Options:

1. v 8 4f7 days
2. %9 2/3 days
3. % 11 5/6 days
4. = 6 1/4 days

Question Number : 109 Question 1d : 54592740711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 20 ST A U FTH F Thdl &1 98 4 T FTH Far &
3R T B 38 12 faail # QI aar &1 A 3T B T @y

Tordel @HET H 1A 9T T qTear?

Options:

1. v 8 47 e
2. % 9 2/3 faa
3. = 11 5/6 f&at
4. % 6 1/4 fea

Question Number : 110 Question Id : 54592740712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Riya can type 12 pages in 4 minutes and Simran can type 4
pages in 8 minutes. In 48 minutes how many pages can they
type together?

Options:

1. = 124
2. v 168
3. % 138



4. % 152

Question Number : 110 Question Id : 54592740712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 4 A9e & 12 9F T80 & Tharl & 3R A 8 faee
H 4 U3 T8 R Thdl &l 48 ae # d vah Ty Tohde oo
ZrsT T Thal &7

Options:

1. = 124
2. v 168
3. = 138
4. = 152

Question Number : 111 Question Id : 54592740713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X and Y can do a work in 6 days and 12 days respectively. X
starts the work and Y joins him after 2 days. In how many
days can they complete the work together?

Options:

1. = 3 4/5 days
2. = 16/7 day
3. v 2 2/3 days
4. = 4 34 days

Question Number : 111 Question Id : 54592740713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X 3T Y AT 6 Ta 3T 12 oAl # Th HIH T ohd &l X
HTH & HIAT & 3T Y 2 & o1 368 55 &rar &1 3 o
|y fohciel &l # A [ T Tehd &7

Options:




x 3 4/5 fa=T
x 1 6/7 faa
v 2 2i3 faa
x 4 34 Tea

Question Number : 112 Question 1d : 54592740714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the approximate length of the diagonal of a cube when
its volume is 216 cu cm.

Options:

1. = 9.67 cm

2. * 10.28 cm
3.+10.39 cm
4.+ 11.12 cm

ol

Question Number : 112 Question Id : 54592740714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foraT Tl o TIROT T AT oS AT F, ST ST
Mde 216 cu cm &l

Options:

1. = 9.67 cm
2. » 10.28 cm
3. v 10.39 cm
4. = 1112 cm

Question Number : 113 Question 1d : 54592740715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the cost of building a fence around a square plot
with area equal to 225 sq ft, if the price per foot of building
the fence i1s Rs 327



Options:

1. v Rs 1920
2. = Rs 2160
3. = Rs 1850
4. » Rs 2260

Question Number : 113 Question 1d : 54592740715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

225 g3 He & SIS &1 JTel Tk TIT WS & IR 3N Uk
STS ofdTlal T oI T glaM, IS 975 oemel # 9fd e 32
TUT TRT 37T &7

Options:

1. v 1920 ®UU
2. = 2160 34U
3. = 1850 z4U¢
4. = 2260 ®UT

Question Number : 114 Question Id : 54592740716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The dimensions of a room are 25 feet x 15 feet x 12 feet. What
is the cost of white washing the four walls of the room at Rs 6
per square feet if there is one door of dimension 6 feet x 4 feet
and 3 windows of dimensions 5 feet x 4 feet?

Options:

1. v Rs 5256
2. » RS 6348
3. = RS 4398
4. » RS 5682

Question Number : 114 Question Id : 54592740716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TR FAY T [GAT 25 Hie x 15 fie x 12 hie &1 6 sov ufa
g9 HIc T T F FAL I IRT GART I HHaT o6l H Tehcdalr
T 3O, If FAX H 6 B x 4 e fr AT 71 T
glaraT § 3T 5 e x 4 e & 3Ar Fr 3 Wstear &2

Options:

1. v 5256 ®UU
2. % 6348 34T
3. = 4398 ‘YU
4. = 5682 TUT

Question Number : 115 Question Id : 54592740717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given table of a company’s expenses, which year
constitutes most expenditure made on raw materials as
compared to their whole expenditure?

Particulars

Year |Raw Materials| Salaries| Rent |Interest Delivery
2014 1250 350 200 400 400
2015 1300 400 850 400 500
2016 1650 500 S00 500 600
2017 1500 430 850 500 700
2018 1750 720 1100 500 850

Options:

1. = 2014

2. % 2015

3. v 2016

4, = 2018

Question Number : 115 Question Id : 54592740717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



&r g gifeeRT H FUeT & =l # 7 a¥ s At fr =6
T 3 QT T HT Jelell H T JTGF TR fRAT ST §7

ag L]
hedl dATd| dada  |foeyar | =rer | Ragor

2014 1250 350 800 400 400
2015 1300 400 850 400 500
2016 1650 500 900 500 600
2017 1500 480 950 500 700
2018 1750 720 1100 500 850

Options:

1. = 2014

2. = 2015

3. v 2016

4. = 2018

Question Number : 116 Question Id : 54592740718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given table by what percentage has the total
expenses increased from 2014 to the year 2018 ?

Particulars

Year |Raw Materials| Salaries| Rent |Interest Delivery
2014 1000 300 800 400 400
2015 1800 400 800 500 500
2016 900 450 850 500 500
2017 1200 400 300 500 800
2018 2000 700 1000 600 900

Options:

1. = 55.67%

2. » 65.89%

3. = 40.23%
4. v 79.31%

Question Number : 116 Question 1d : 54592740718 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

&r 1% ekt 7 2014 @ ¥ 2018 T Fel @ A Tohelat
wfcrerd T gi& g% &7

GLY fqaRon
@h=dl #Aled| ad= | foetram | sar=r (faagor

2014 1000 300 800 400 400
2015 1800 400 800 500 500
2016 900 450 950 500 500
2017 1200 400 800 500 800
2018 2000 700 1000 600 900

Options:

1. = B5.67%

2. = 65.89%

3. # 40.23%

4. v 79.31%

Question Number : 117 Question Id : 54592740719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given pie chart, if the world exports of flower is 10
billion USD, then what share does Columbia and Kenya
earned respectively (in USD)?

MARKET SHARE ON EXPORT OF FLOWERS

Other
countries, 20%

Kenya, 3%

Israel, 5%
Netherlands,

55%
italy, 7%

Columbia, 10%

Options:

1. v 1bhillion and 300 million



2. * 300 million and 100 million
3. = 30 million and 1 billion
4. = 1 million and 3 billion

Question Number : 117 Question Id : 54592740719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few arv o = A, i Gor w1 RFem fota 10 fefermer USD
g, ol shaer: shlelfedr 3 hedm (USD #A) Fr Jerer A fohdar
1T TaaTa w57

%ol & fAdfa W aeR Rederd

¥a e, 20%

Frr | 3%
sEUsE |, 5% _ A, 55%
gool, 7%
FHrafaar, 10%
Options:

1. v 1 Taferger 3T 300 fAferger
2. = 300 fAferga 3 100 fAfee
3. = 30 fAfeye 3K 1 Sfege
4. = 1 fAfewa 31T 3 Wieae

Question Number : 118 Question Id : 54592740720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



From the given chart by how much was the increase in
annual food grain production 2016 to 2017 ?

140 130
120 110
100

120
100
80

g

20

Annual Food Grain Production

2012 2013 2014 2015 2016 2017

Year

Options:

1. = 78.65%
2. v 84.62%
3. * 89.34%
4. % 48.29%

Question Number : 118 Question Id : 54592740720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow arv I1& & 2016 & 2017 o AV Fedled 3cdae H

130
e 120
120 110
100

100

&

aftF aeaEs e
g 8

20

2012 2013 2014 2015 201 2017
CL

Options:

1. = 78.65%



2. v 84.62%
3. = 89.34%
4. = 48.29%

Question Number : 119 Question 1d : 54592740721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given chart from which year on the profit stayed
above the average profit of the past 9 years ?

240
250 220 220

190 190

170
160
150 149

2010 2011 2012 2013 2014 2015 2016 2017 2018
Year

Options:

1. = 2012
2. % 2017
3. = 2018
4.« 2014

Question Number : 119 Question Id : 54592740721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fov a0 oé & forg ay, oy Mo 9 gt & 3fgg oy @

sdrel {817

240
250 220 220

130 130
200 160 170
150 440
150
100
50

2010 2011 2012 2013 2014 2015 2016 2017 2018
af

Options:

1. = 2012
2. = 2017
3. = 2018
4. v 2014

Question Number : 120 Question Id : 54592740722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The given table shows the imports (in crore rupees) of 3
companies. In the year when imports of Company A and C
were same by how much were the imports of Company C
greater than the imports of Company B?

—Company A ——Company B ——Company C
m -
250
250
g 200 210 M/
£ lw =0
“‘...q" s 1£D 150 160 {55 =
£ 100 -
£
50 4
o -
2014 2015 2016 2017 2018
Year
Options:
1. %= 33%
2. 50%
3. v 20%
4, = 25%

Question Number : 120 Question Id : 54592740722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



&r IS grfelenT 3 Ul o TT (RS FYT H) AT &
3 a¥ H 9 &9ar A 3T C & JOT GAT o4, Far B &
MEATT 8 F9aT C T AT Tohder HTOF 271?

250

250

3 sl ¥ sma
=

100

50 -

2014 2015

E‘Ch‘.'l - 180
o
150 -

2016 2017 2018

Options:

1. » 33%
2. = 50%
3. v 20%
4. = 25%
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Question Number : 121 Question Id : 54592740723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) Simran was do / (B) her homework when / (C) her father
came./ {D) No error

Options:

1.vA
2.% B
3.%C
4. =D

Question Number : 121 Question Id : 54592740723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) Simran was do / (B) her homework when / (C) her

father came./ (D) No error

Options:

1. v A
2. = B
3. = C
4. = D

Question Number : 122 Question Id : 54592740724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) One of the most/ (B) widely spread bad habit / (C) is
drinking alcohol./ (D) No error

Options:

1.« A
2.v DB
3.5 C
4, %]



Question Number : 122 Question Id : 54592740724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) One of the most/ (B) widely spread bad habit / (C) Is
drinking alcohol./ (D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 123 Question Id : 54592740725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) Did you saw/ (B) the magic show / (C) conducted by the
college./ (D) No error

Options:

1.vA
2.« B
3.



4. %D

Question Number : 123 Question Id : 54592740725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) Did you saw/ (B) the magic show / (C) conducted by
the college./ (D) No error

Options:

1. v A
2. = B
3. C
4. = D

Question Number : 124 Question Id : 54592740726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) Last winter he /(B) went to his cousin’s / (C) place and
enjoyed a lot./ (D) No error

Options:

1. = A
2.% B



3. = C
4. v D

Question Number : 124 Question Id : 54592740726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) Last winter he / (B) went to his cousin's / (C) place
and enjoyed a lot./ (D) No error

Options:

1. = A
2. » B
3. = C
4. v D

Question Number : 125 Question 1d : 54592740727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) There is a / (B) ugly fish in / (C) the pond./ (D) No error

Options:

1.vA
2. % B



3. C
4. %D

Question Number : 125 Question Id : 54592740727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) There i1s a / (B) ugly fish in / {C) the pond./ (D) No

error

Options:

1. v A
2. = B
3. = C
4. = D

Question Number : 126 Question 1d : 54592740728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Yash (had been played) cricket for five years.

Options:

1. » was played

2. = will be played

3. v had been playing
4. » No correction



Question Number : 126 Question Id : 54592740728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

Yash (had been played) cricket for five years.

Options:

1. = was played

2. » will be played

3. v had been playing
4. = No correction

Question Number : 127 Question Id : 54592740729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Rakesh (had slept) before I came back from the school.

Options:

1. = had sleep

2. = slept

3. = will slept

4. v No correction

Question Number : 127 Question 1d : 54592740729 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

Rakesh (had slept) before | came back from the school.

Options:



1. = had sleep

2. = slept

3. = will slept

4. v No correction

Question Number : 128 Question Id : 54592740730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

We don't use our coal (seller) anymore

Options:

1. = collar
2. » cereal
3. v cellar
4. » No correction

Question Number : 128 Question Id : 54592740730 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Replace the words in the bracket from the set of options

given.

We don't use our coal (seller) anymore

Options:

1. = collar
2. % cereal
3. ¢ cellar

4. = No correction

Question Number : 129 Question Id : 54592740731 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

I (learn) Russian for three years.

Options:

1. v have learnt

2. » will learnt

3. = had learned
4. = No correction

Question Number : 129 Question Id : 54592740731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

| (learn) Russian for three years.

Options:

1. v have learnt
2. = will learnt

3. # had learned
4.

* No correction

Question Number : 130 Question Id : 54592740732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

The main concept (of his speech) was women empowerment.

Options:

1. = of his speaking
2. = at his speech



3. » when he speak
4. v No correction

Question Number : 130 Question Id : 54592740732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

The main concept (of his speech) was women empowerment.

Options:

1. = of his speaking
2. » at his speech
3. = when he speak

4. v No correction

Question Number : 131 Question 1d : 54592740733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The employer was very about the health of her
employees.

Options:

1. = sanguine

2. % scurrilous
3. v solicitous
4. % servile

Question Number : 131 Question 1d : 54592740733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with appropriate word.

The employer was very about the health of her

employees.

Options:

1. * sanguine
2. % scurrilous
3. ¢ solicitous

4. = servile

Question Number : 132 Question Id : 54592740734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

trying hard, she failed miserably.

Options:

1. = Since

2. v Inspite of
3. = Although
4. = However

Question Number : 132 Question Id : 54592740734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

trying hard, she falled miserably.

Options:

1. = Since



2. ¢ Inspite of
3. = Although

4. = However

Question Number : 133 Question 1d : 54592740735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Jasmine used blue ribbons to the coppery tones in
her hair.

Options:

1. v accentuate

2. « absolve
3. = gerate
4. = gesthete

Question Number : 133 Question 1d : 54592740735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Jasmine used blue ribbons to the coppery

tones In her hair.

Options:

1. v accentuate
2. % absolve
3. % gerate

4. = aesthete

Question Number : 134 Question Id : 54592740736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with appropriate word.

The toddler refused to leave the playhouse.

Options:

1. = corrosive
2. v defiant
3. = condone
4. = conduit

Question Number : 134 Question Id : 54592740736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The toddler refused to leave the playhouse.

Options:

1. = corrosive
2. v deflant
3. % condone

4. = conduit

Question Number : 135 Question Id : 54592740737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The arrogant writer did not hide his for his
uneducated dinner companion.

Options:

1. = discern
2. v disdain



3. = diffident
4, = derelict

Question Number : 135 Question Id : 54592740737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The arrogant writer did not hide his for his

uneducated dinner companion.

Options:

1. = discern
2. v disdain
3. = diffident
4. = derelict

Question Number : 136 Question 1d : 54592740738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The host warmly greeted his many guests.

Options:

1. = garish

2. v genial
3. = grandiose
4, = gruff

Question Number : 136 Question Id : 54592740738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with appropriate word.

The host warmly greeted his many guests.

Options:

1. = garish
2. v genial
3. = grandiose

4, = gruff

Question Number : 137 Question Id : 54592740739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The policeman was publicly for his bravery.

Options:

1. » extant
2. = flagrant

3. v exalted
4. = gruffed

Question Number : 137 Question Id : 54592740739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The policeman was publicly for his bravery.

Options:

1. = extant

2. % flagrant



3. v exalted

4. = gruffed

Question Number : 138 Question Id : 54592740740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

If Seema is late, we will go her.

Options:

1. v without
2. = until

3. = unless
4. = of

Question Number : 138 Question 1d : 54592740740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

If Seema I1s late, we will go her.

Options:

1. v without
2. % until
3. % Unless

4. = of

Question Number : 139 Question Id : 54592740741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question below consist of a set of labelled sentences. Out
of four options given, select the most logical order of the
sentences which form a paragraph.

Yashwant Sinha's budget has been presented against the
backdrop of a sharp fall in the government’s finances.

P : Accordingly the basic purpose of the budget is to stabilise
the fiscal health of the country.

(Q : A stimulus has also been provided to promote and revive
industrial and overall growth.

R : Towards this end, Sinha has rationalised the structure of
customs and excise duties.

S : He has also announced tax initiatives to facilitate
corporate mergers and de-mergers.

It is only hoped that these measures will help rejuvenate the
country’s flagging economy.

Options:

1. v PSQR
2. » RSQP
3. = QSRP
4. = SRQP

Question Number : 139 Question 1d : 54592740741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question below consist of a set of labelled sentences.
Out of four options given, select the most logical order of

the sentences which form a paragraph.

Yashwant Sinha's budget has been presented against the
backdrop of a sharp fall in the government's finances.

P : Accordingly the basic purpose of the budget Is to
stabilise the fiscal health of the country.

Q : A stimulus has also been provided to promote and
revive Industrial and overall growth.

R : Towards this end, Sinha has rationalised the structure
of customs and excise duties.

S : He has also announced tax Initiatives to facilitate
corporate mergers and de-mergers.

It 1s only hoped that these measures will help rejuvenate

the country's flagging economy.

Options:

1. v PSQR
2. = RSQP
3. = QSRP
4. = SRQP

Question Number : 140 Question Id : 54592740742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical
order of the parts which form a coherent sentence.

Growth and evolution of the

P : change in the economic environment
(Q : and legislative control over it

R :is largely a by-product of the

S : corporate sector in India

Options:

1. * QRPS
2. * RQPS
3. v SRPQ
4. » PSQR

Question Number : 140 Question Id : 54592740742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical

order of the parts which form a coherent sentence.

Growth and evolution of the

P : change In the economic environment
Q : and legislative control over it

R : i1s largely a by-product of the

S : corporate sector in India

Options:

1. » QRPS



2. = RQPS
3. v SRPQ
4. = PSQR
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Question Number : 141 Question Id : 54592740743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical
order of the parts which form a coherent sentence.

Internal consistency in the

P : areas do not work at cross-purpose
(Q : various functional plans and policies
R : but operate in harmony

S : ensures that the different functional

Options:

1. = PSQR
2. v QSPR
3. = RSQP
4. » SPQR

Question Number : 141 Question Id : 54592740743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical

order of the parts which form a coherent sentence.

Internal consistency in the

P : areas do not work at cross-purpose
Q : various functional plans and policies
R : but operate In harmony

S 1 ensures that the different functional

Options:

1. = PSQR



2. v QSPR
3. = RSQP
4. = SPQR

Question Number : 142 Question 1d : 54592740744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the MEANING of the given word.

Quell

Options:

1. » Strange
2. v Reduce
3. = Agitate
4. = Anxious

Question Number : 142 Question 1d : 54592740744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the MEANING of the given word.

Quell

Options:

1. = Strange
2. v Reduce

3. » Agitate
4. = Anxious

Question Number : 143 Question Id : 54592740745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the four alternatives, choose the word which best
expresses the MEANING of the given word.

Tumultuous

Options:

1. = Bold

2. » Harmonious
3. v Violent

4. = Crowd

Question Number : 143 Question Id : 54592740745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the MEANING of the given word.

Tumultuous

Options:

1. = Bold

2. = Harmonious
3. v Violent
4. = Crowd

Question Number : 144 Question Id : 54592740746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which is
OPPOSITE in meaning to the given word.

Admonish

Options:

1. v Applaud



2. » Reprove
3. * Harmony
4. = Relieve

Question Number : 144 Question Id : 54592740746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which Is
OPPOSITE In meaning to the given word.

Admonish

Options:

1. v Applaud
2. » Reprove
3. ® Harmony

4. = Relieve

Question Number : 145 Question Id : 54592740747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which 18
OPPOSITE in meaning to the given word.

Insinuate

Options:

1. = Hint

2. » Doubtful
3. v Conceal
4. = Unbiased

Question Number : 145 Question Id : 54592740747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Insinuate

Options:

1. = Hint
2. = Doubtful

3. v Conceal

4. = Unbiased

Question Number : 146 Question Id : 54592740748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which is
OPPOSITE in meaning to the given word.

Placid

Options:

1. v Stormy
2. = Calm

3. » Flatter
4. = Arrogant

Question Number : 146 Question Id : 54592740748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Placid

Options:



1. v Stormy
2. = Calm
3. » Flatter
4. % Arrogant

Question Number : 147 Question Id : 54592740749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. = Circumlotion

2. = Circumelocation
3. » Cuircumlocusion
4. v Circumlocution

Question Number : 147 Question 1d : 54592740749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:

1. = Circumlotion
2. % Circumelocation
3. * Cuircumlocusion

4. ¢ Circumlocution

Question Number : 148 Question 1d : 54592740750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:



1. v Solicitous
2. » Solicisious
3. = Solctious

4. = Solictious

Question Number : 148 Question Id : 54592740750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt

correctly. Choose the correctly spelt word.

Options:

1. v Solicitous
2. = Solicisious
3. = Solctious

4. = Solictious

Question Number : 149 Question Id : 54592740751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. = Pungasious
2. v Pugnacious
3. » Pungicous

4. = Pugnatious

Question Number : 149 Question 1d : 54592740751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:



1. = Pungasious
2. v Pugnacious
3. = Pungicous
4. = Pugnatious

Question Number : 150 Question Id : 54592740752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?
Let the cat out of the bag

Options:

1. = To solve two problems at once.
2. v To accidentally reveal a secret
3. » To want something very badly
4. = To make a situation worse

Question Number : 150 Question Id : 54592740752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Let the cat out of the bag

Options:

1. = To solve two problems at once.
2. v To accidentally reveal a secret
3. * To want something very badly

4. * To make a situation worse

Question Number : 151 Question Id : 54592740753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What does the following idiom mean?

Nip in the bud

Options:

1. = To abuse someone

2. » To remain faithful to the cause
3. v Destroy in the early stage

4. = To reveal a secret

Question Number : 151 Question Id : 54592740753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Nip in the bud

Options:

1. = To abuse someone
2. = To remain faithful to the cause
3. v Destroy In the early stage

4. = To reveal a secret

Question Number : 152 Question Id : 54592740754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

To sit on the fence

Options:

1. v To remain neutral
2. = To be in low spirits
3. = To be angry



4. = To be patient

Question Number : 152 Question Id : 54592740754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

To sit on the fence

Options:

1. v To remain neutral
2. = To be In low spints
3. = To be angry

4, = To be patient

Question Number : 153 Question 1d : 54592740755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which 1s the best substitute of the words/sentences.

A patient with imaginary symptoms and ailments

Options:

1. = Impregnable

2. » Fastidious

3. v Hypochondriac
4. = Mercenary

Question Number : 153 Question 1d : 54592740755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the

words/sentences.

A patient with imaginary symptoms and ailments

Options:

1. = Impregnable
2. * Fastidious

3. v Hypochondriac
4,

= Mercenary

Question Number : 154 Question Id : 54592740756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the words/sentences.

A large number of fish swimming together

Options:

1. = Flotilla
2. = Posse
3. = Horde
4. v Shoal

Question Number : 154 Question Id : 54592740756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the

words/sentences.

A large number of fish swimming together

Options:

1. = Flotilla
2. » Posse
3. * Horde
4. v Shoal

Question Number : 155 Question Id : 54592740757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the words/sentences.

The scientific study of the structure and diseases of teeth

Options:

1. v Odontology
2. = Genealogy
3. = Dactylology
4. = Petrology

Question Number : 155 Question Id : 54592740757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the

words/sentences.

The scientific study of the structure and diseases of teeth

Options:

1. v Odontology
2. » (Genealogy
3. # Dactylology
4. = Petrology

Sub-Section Number: 2
Sub-Section 1d: 5459272421
Question Shuffling Allowed : Yes

Question Id : 54592740758 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

QQuestion Label : Comprehension



Read the following passage and answe the question.

The beautiful, brilliant Butterflies of the Meadow had many
cousins living in the forest, most of whom were Night Moths.
They also were very beautiful creatures, but they dressed in
duller colors and did not have slender waists. Some of the
Butterflies, you know, wear whole gowns of black and yellow,
others have stripes of black and white, while some have clear
yellow with only a bit of black trimming the edges of the
wings.

The Moths usually wear brown and have it brightened with
touches of buff or dull blue. If they do wear bright colors, it is
only on the back pair of wings, and when the Moth alights, he
slides his front pair of wings over these and covers all the
brightness. They do not rest with their wings folded over their
heads like the Butterflies, but leave them flat. All the day long,
when the sun is shining, the Moths have to rest on trees and
dead leaves. If they were dressed in yellow or red, any passing
bird would see them, and there is no telling what might
happen. As it is, their brown wings are so nearly the color of
dead leaves or bark that you might often look right at them
without seeing them.Yet even among Moths there are some
more brightly colored than others, and when you find part of
the family quietly dressed you can know it is because they
have to lay the eggs. Moths are safer in dull colors, and the
egg-layers should always be the safest of all. If anything
happened to them, you know, there would be no Caterpillar
bhabies.



Sub questions

Question Number : 156 Question Id : 54592740759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Moths who are about to lay the eggs are

Options:

1. = dressed in dull colours
2. » dressed in black

3. = dressed in brown

4. v quietly dressed

Question Number : 157 Question Id : 54592740760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

were the cousins of butterflies.

Options:

1. = Caterpillar
2. v Night Moths
3. = Flies

4. = Mosquitoes

Question Number : 158 Question 1d : 54592740761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How do the moths rest?

Options:

1. = By folding their wings over their heads

2. = By flying in the sky with the help of the wings
3. = By crossing the wings

4. v By leaving the wings flat

Question Number : 159 Question 1d : 54592740762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where do the moths rest during the day?

Options:

1. v On trees and dead leaves



2. » Near the lake
3. = On the flowers
4. = In the garden

Question Number : 160 Question Id : 54592740763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the meaning of the word 'slender’ as used in the
passage?

Options:

1. v thin
2. = fat

3. = ugly
4. = pretty

Question Id : 54592740758 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following passage and answer the questions.

The beautiful, brilliant Butterflies of the Meadow had many
cousins living in the forest, most of whom were Night
Moths. They also were very beautiful creatures, but they
dressed in duller colors and did not have slender waists.
Some of the Butterflies, you know, wear whole gowns of
black and yellow, others have stripes of black and white,
while some have clear yellow with only a bit of black

trimming the edges of the wings.

The Moths usually wear brown and have it brightened with
touches of buff or dull blue. If they do wear bright colors, it
is only on the back pair of wings, and when the Moth
alights, he slides his front pair of wings over these and
covers all the brightness. They do not rest with their wings
folded over their heads like the Butterflies, but leave them
flat. All the day long, when the sun is shining, the Moths
have to rest on trees and dead leaves. If they were
dressed in yellow or red, any passing bird would see them,
and there 1s no telling what might happen. As it is, their
brown wings are so nearly the color of dead leaves or bark
that you might often look right at them without seeing
them.Yet even among Moths there are some more brightly
colored than others, and when you find part of the family
quietly dressed you can know It iIs because they have to
lay the eggs. Moths are safer in dull colors, and the
egg-layers should always be the safest of all. If anything
happened to them, you know, there would be no Caterpillar

babies.



Sub questions

Question Number : 156 Question Id : 54592740759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Moths who are about to lay the eggs are

Options:

1. = dressed in dull colours
2. * dressed In black
3. = dressed In brown

4. v quietly dressed

Question Number : 157 Question Id : 54592740760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

were the cousins of butterflies.

Options:

1. = Caterpillar

2. v Night Moths
3. = Flies

4. = Mosquitoes

Question Number : 158 Question Id : 54592740761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How do the moths rest?

Options:

1. = By folding their wings over their heads

2. » By flying In the sky with the help of the wings
3. = By crossing the wings

4, v By leaving the wings flat

Question Number : 159 Question 1d : 54592740762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Where do the moths rest during the day?

Options:

1. v On trees and dead leaves
2. = Near the lake
3. ® On the flowers

4. » |In the garden

Question Number : 160 Question Id : 54592740763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What Is the meaning of the word 'slender' as used in the

passage”
Options:

1. v thin
2. = fat
3. = ugly
4. = pretty

General Hindil

Group Number : 9
Group Id: 5459272019
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi1l



Section 1d : 5459272019

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272422
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54592740764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTead uy #, IR aeul § T, 39 [Adey & ad= & S 1T M7 9
& Tl TET AT GHTY & [aUg 0T fddheT gl

STRTIACT

Options:

1. * T@TIS & 37c
2. v B & AR
3. % @A UL

4, % @S ATAR Y

Question Number : 161 Question Id : 54592740764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ved #, I) TFeal & 8, 39 OFeT FT 999 =
S AT a0 oreg & o0 TOET 3o GAT & [Og &
RAereT arl

STehIql

Options:

1. % FMAS oh 3eel
2. v FIC F AR



3. * O T

4. = FEQ 37eTEN a

Question Number : 162 Question 1d : 54592740765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYTeiad U ¥, IR [Odhetl § ¥, 39 [ddhed & ad= & I 1¢J T e
T T TcgH €Y ATeAT [dmeT 31l

I GIES

Options:

1. * 9dX
2. v AT
3. = STl
4. = HTepel

Question Number : 162 Question Id : 54592740765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST faU 910 ereg T HEl dc@H &9 dTell [dhed &

far

Options:

1. » H§dX

2. v Htdd
3. % ITH
4. » Hiehel

Question Number : 163 Question 1d : 54592740766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Maelied Uy #, I [ddedl # 9, 39 [ddhed @ IIdT T ST .8 U6, &l

gl fadeT gl



Options:

1. » THET
2. % gUET

3. v gm
4. % hgelT

Question Number : 163 Question Id : 54592740766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i@ uea #, I) Aeedr A 8, 39 TFeqT &7 T =
ST 2°IST 9TeC T Hal [dhed &l

Options:

1. = 3HET
2. = GANT
3. v #am

4. = Trger

Question Number : 164 Question Id : 54592740767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gTeld Uy #, IR Tddeul § ¥, 39 ey &7 o= DY ST hisa H &7
Y S, & AR Y & U, T g1 Adhed gl

THT oT7TT b (@IS ) 31T B

Options:

1. * F=Tara®

2. v IFEFIArID A
3. * IH Ie0

4, » [T drerd

Question Number : 164 Question Id : 54592740767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
Sl hIsceh H QU a0 ereq & AN TdelTH & A T Tl
RBereT gl

TGT o9 for ( RIS ) 3T F

Options:

1. = TaA<Ta=IF

2. v MTaeaaar<re ddeTH

3. % 3cdH gbﬁr

4. » T O

Question Number : 165 Question Id : 54592740768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTeiad vy #, o Aaeul § 4, 39 [Odey o ad= & S ( Aisas §
Y e, & IR 3T & WE, BT TgI ey gl

AT 31T a9 I 3TYIT { 37 ) Pol & F AT STAT

Options:

1. = TSRIATIATGUT 3T

Question Number : 165 Question 1d : 54592740768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST ( hIash A U A0 oe & IH[AN 38T & AL FT el
RBereT gl

&l 3T &7 8 39 ( 3R ) Fel ¢ & AT TR

Options:

1. = TRATIALNOT 31ead
2. v Hd_—;nﬂqaﬁﬂqa eI
3. = OTAgICags 37539
4, » GEUAreTHh 3

Question Number : 166 Question Id : 54592740769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyerad Ty #, IR Aaeul § ¥, 39 [OdeT & ad= & S 70 M7 9
& T e BT GgI Tddey gl gl

Options:

1. * ST

2. % JollHIT
3. v gIcH
4. % TG

Question Number : 166 Question Id : 54592740769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafeEa ved #, I) TFedl # 8, 39 AFed FT II9 R
ST feU 91T ereg & UATIGT e1sG T Hal Taheq olal &l

garofr -



Options:

1. = err
2. = GoTHST
3. v gigA
4. = FIATigar

Question Number : 167 Question Id : 54592740770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

METerd Usf &, IR eyl § §, 39 Tddhey T o+ o ST e M7 e
& TAeTI Srec; & Gg! Tade gl

T -

Options:

1. * 9T

2. % 3rd
3. v ®ieud
4. % TS

Question Number : 167 Question Id : 54592740770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST 1w 31w e o TOaNH ¢lec T Tar Aheq &

Ty -

Options:

1. = g
2. « 3T



Question Number : 168 Question 1d : 54592740771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § 9, 39 gl e DI T e ST U T
- & 31 BT YT [Amey gl

TerservT-Tar s V=T
Options:

1. % Tichd 3T eIl
2. % GHg 3N el
3. v TR 3T gedt
4. * YT 3R &t

Question Number : 168 Question Id : 54592740771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt d w2l H, IX Ahedl # &, 39 el [dFheq T IIa
Y S fGu a0 ersg-gedA F st 7 | fawew &

Toreaa-faeaeny
Options:

1. = Sfehe 31T ${aT
2. = GHZ 3T 53
3. v WHET AT gadr
4. = AT 3 T

Question Number : 169 Question Id : 54592740772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYeired U 7, IR Tadeul § ¥, 39 [ddey &7 ad= & S 10 70
AqTFATSr & [T T SIec, T Gal [adeT gl

Terenmi e gRT Tt Maw -

Options:



1. * ST
2. % 3TdcTdT

3. v afafaw
4. » 3rAIeT

Question Number : 169 Question Id : 54592740772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST 12U a1w greramer & Tolv Uk ereg &7 Tal Fhed &

fauTRsr garT wdipa A -

Options:

1. = ATAg=EAT

2. % TR
3. v MTO«@TH
4. « 3feIAICE

Question Number : 170 Question Id : 54592740773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgtetad vy ¥, IR faweut & ¥, 39 TEI [AdeT & a3 & St eh T
& TelU 3id [awey gl |

3T P BISHT q dg! FAT 9T 35 §I?

Options:

1. = GISr
2. v ST
3. % JhIX
4. % TS

Question Number : 170 Question Id : 54592740773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fITaad weed H, I) Q[hedl A &, 39 Tar [Theq T IIo
H ST R TuTer & folv 30T @ereq & |

et T BISF JH TET FT ST 8 &7

Options:

1. = o2er
2. v ucer
3. *= UhT
4, = TR

Question Number : 171 Question Id : 54592740774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

My v &, IR [Adetl § ¥, 39 [dded & o= & S 16U T SIed,
& GHTTET Sree, oT gl Tddhed gl gl

Ve -

Options:

1. % qei

2. % Sfrer
3. v HS
4, % gH]

Question Number : 171 Question 1d : 54592740774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST few 1w ereg & TATATAT osg FT Tar Aereq a5 &I

e -

Options:



« efTer

ol
<
A

% el

2

Question Number : 172 Question 1d : 54592740775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M U §, IR [a@eul § 9, 39 TgI [admey &l ad= HL ST 146 T
& TelT SUYH e BT GgI [adeT 3l

I T&Adh T & Tel@ 4

Options:

1. » TS
2. v IUAN
3.« M@
4, = GHEST

Question Number : 172 Question Id : 54592740775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFeITaad wedd H, IX Ahedl # &, 39 Tl [Theqd T IIa
Y ST e Forrer & foIv Sugere efsq 1 @ET fared

q T sedl & folv &
Options:

1. = FQraelsl
2. v 3UIE
3. = &k

4. = gage



Question Number : 173 Question Id : 54592740776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MyTorad 77 #, IR ool § 9, 39 oo @7 od oY 511 [, e, T
gl fadmeT 3l

Options:

1. * TR
2. v gl
3. * Jogdax
4. % Fdr3a<

Question Number : 173 Question Id : 54592740776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT
ST eg ereg T TP faked &

Options:

1. = QI
o

2.JHF{IDFIT
3. » Ycgd
4. % Yd3cdl

Question Number : 174 Question Id : 54592740777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT 7 &, O [adeul § &, 3T dheq o adT B 1 g A, Pl
gl fadmeT 3l

Options:

1. » SYUTe]
2. v Ygle]
3. % YHTe]
4. % el

Question Number : 174 Question Id : 54592740777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST e[ <Tse 1 Hel fawed &

Options:

1.%5’11'%1'@_'

2.#"}1@'@'
3. % ATel

o
4. = ST

Question Number : 175 Question Id : 54592740778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgerad U ¥, IR [Adeul § 9, 39 fardhey & o2 B ST Y A, P
Gﬁiafﬁﬁﬂ %I

Options:

1. * QLT
2. % GATAT

3. v Ut
4. % RATAT

Question Number : 175 Question Id : 54592740778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST e[ <Tse 1 Tal fawed &

Options:

1. = FIardf
2. % gatrelf

3. v QIOmYT
4. % AT

Question Number : 176 Question Id : 54592740779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fgieiad Uy #, IR Aaeul § 9, 39 fadhet & o2 B S IT Tlooln

SIeC, dTell g TadeT 2l

Options:

1. » ”aTge
2. % JaTdr
3. % 8d

4. vUH

Question Number : 176 Question 1d : 54592740779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST HeT Yieeldr ereg drel Her fashed g

Options:

1. = RIhallge
2. = 3ar Y
3. = Bd

4. v UH

Question Number : 177 Question 1d : 54592740780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyfor@d vy §, o Aeeu § 9, 39 Raew & aa= o S g7 Sl
aTelT STET, 3l

Options:

1. = et

2. % Ug
3. v TS
4, * G

Question Number : 177 Question Id : 54592740780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST HeT TEIfeldr arelT %5 gl

Options:

1. = dleld
2. = Hg

M

3. v Tarar
4. = TaTTal

Question Number : 178 Question Id : 54592740781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e TS #, IR Telehedl § &, 39 Telehed T <Ia e ST JeT Sger]
SIET, BT JaY 30T TdhdheT 3l

Options:

1. * g
2. v dcl
3. = Tyl
4. % T

Question Number : 178 Question Id : 54592740781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST ] SREECINECEY Tod 3T Ahed &

Options:

1. = GcI

2. v ®ol
3. = gul
4. = IeT

Question Number : 179 Question Id : 54592740782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



MEeiEd Uy #, I Adedl # ¥, 39 [ddheT &7 T B Sl hidd # T
1T SIEE;, & 3TY 34 [T aTadh GAATH 0T gl [adeT gl

1. » ( ¥g ) PO W st § slterT 751 3l
2.v (Gg) FAT P IZT 3 ?

3. = (H9) 31741 gTHTA @1 Tl

4, % ( qH ) W GIY A Pl T51?

Question Number : 179 Question 1d : 54592740782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST TSk H 2T 10 e & 3TAN 370 &Y aTereh TdATH
T Far ahed &l

Options:

1.« (qFe ) o o1 S & o =gl &
2. v (TGE)FATFIET & ?

3. = ((Ha ) 39T AT =T

4. % (JH ) A WY TaART HT AG?

Question Number : 180 Question Id : 54592740783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FHieired U #, IR Tddetl § ¥, 39 e &7 o= & S11 10 1T arad
& PleT D WS, BT TgI [Ahel gl

g QT GH gl ehT gl

Options:

1. v ETETe Ydehrel

2. % YU eATHTERTO]
3. % YTeTel qAHTRIA

4. » gdaq AS Yddre




Question Number : 180 Question Id : 54592740783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl ueet &, I) [Ghedl # &, 30 [Aheq &7 TIT
S QU a0 arer & Tl & A FT ol [dkeq avl

TS W FcH &1 IHT BT

Options:

1. v HigTy s{dhrer

2. # 3UT TcTHATSThC
3. » ey aaATdSRTa
4

M Y

8] HG dcIehrel

. % Bd

-2

General Hindi?2

Group Number : 10
Group Id : 5459272020
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group?: No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi2

Section Id : 5459272020
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20



Sub-Section Number: 1
Sub-Section 1d: 5459272423
Question Shuffling Allowed : Yes

Question Number : 181 Question 1d : 54592740784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mo v &, IR [daetl § €, 39 [dded &r od= &t AT 18U M7 arad
o [T gl th W T Feld 3D feihed gl

g UT ¥ ATaT g1 g

Options:

1. = Toreaef
2. » GopdTe
3. v Gagrd

4, = I

Question Number : 181 Question Id : 54592740784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
St QU a7 gy & foIv gica & #g &7 @8 3700 awhed B

gg AT T 37T &1 sEm|

Options:

1. = Jege
2. = HehcTd
3. v GeETeT
4. » forezrmey

Question Number : 182 Question Id : 54592740785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fafalad vy # ar Raeul § ¥, 39 wew o1 ag= & S oy My areg
& TolT T8 & 9T &7 aIF 3T [ddeT gl

dATelTel § ABIotd il G&AT gaat 9T Gl a1

Options:

1. v UdEd®
2. % IVITTEAd®
3. * IRAdD
4. » Mcgarenas

Question Number : 182 Question Id : 54592740785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
ST f&T 30 g & Tolw U&7 o AT T Ted 3T [dhed &l

dTelsr # ASTedr hT T&AT Fgar ST 8T &l

Options:

1. v WEIdedIdes

e

2. = 3EITHCIIAH
3. » 3NHGAdH
4.

L

% TelcadreTdeh

Question Number : 183 Question 1d : 54592740786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g el § & METIUR ared URad @ faded gy

TT® ST & 7T U618 ST g ( gared )

Options:

1. = T @7 TE ST A UgrAT
2. # 1T & Sit UaTY




3. * I0& it 17T ugrda
4. v &SIt T ugrd g

Question Number : 183 Question 1d : 54592740786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
[t [

faFT AFeal § & ﬁlﬁ?llgﬂu ar<g 9ade T They BIEI

& ST & ;AT Telg FTCr & ( Fgared )

Options:

1. = 3T T % ST o YgrAT
2. » 3T IFE ST Yew

3. « % S AT ggreer
4@2@3?[%%?%

Question Number : 184 Question 1d : 54592740787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § 9, 39 Tdthed B T B ST gl ATFT A
& Taden @'

ag thelel UGdT gl gl diedh Tel@dr |l gl

Options:

1. = Tere9dT=In aTad

2. % Ylol dTFd
3. = [0y arag
4. v b dqTH

Question Number : 184 Question 1d : 54592740787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



i@ uea #, I) Aeedr A 8, 39 TFeqT &7 T =
ST Tar areFg #E T Tdehed &1

dg ohdol UgdT & oIgl Siesh feladr & g

Options:

1. = TQuUTdaT=IR arF

2. * lol Iy

3. = T8y greg

4. v chrd GIERS

Question Number : 185 Question Id : 54592740788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § 9, 39 Tdthed B T B ST gl ATFT A
&7 e gl

#9 Ueh FTeh T 3N ag g SeTeIT-Udell Tl

Options:

1. = TereT9dT=IR aTad

2. % Lol AT
3. = [0 arag
4. v GYh ATFY

Question Number : 185 Question 1d : 54592740788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST TaT gy A T [dhed &l

Ha Uk =gTad @1 3R J8 S GECT-TeTel 2|

Options:



A CRIGCICERCIER?

® el dlay

Asr g

ol
#®

v {-i-l_-ljci—d GIER)

Question Number : 186 Question Id : 54592740789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT 7 §, IR [Oweul § 9, 39 [ddey & o &2 ST 951 arad 9,
&7 e il

T ST TeRIeT ATgd & 3R ag gd et 4Tl

Options:

1. » oS a1ad
2. % Yo dIdY
3. « THY aTag
4. v b dqTH

Question Number : 186 Question Id : 54592740789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafeEa ved #, I) TFedl # 8, 39 AFed FT II9 R
ST Ter areFg A T [dhed &

T ST TSl IEd o 3N 9§ gH ol =T

Options:

IR R IGEICERCIER?

. #% el dierd

2
3. = T ey
4

L H-gcrd GIER)



Question Number : 187 Question Id : 54592740790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTora 757 7, IR Trwedt § 9, 39 rmed $r aas ®e St G ared o
qq 39T [adeT 3l

Options:

1. * ¥ 3T T8 HHIN Sel]
2. * THINT T8 Sleil A 3T
3. v #3117 18 TN UgHT &
4, = UG- 5 BHINT B 37T

Question Number : 187 Question Id : 54592740790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT
ST g a1 T Ted 3eaT fdhed &

Options:

1. % Hel 3T A5 FATST STl
2. % SHAMST ds STell Ha 3T
3. v #Ha 3T A% FHST Ugar &
4. = UgaT s hATS Hal 3T

Question Number : 188 Question Id : 54592740791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYTeTEd 7 , o TAdeul § , 39 [Awey & o 3¢ ST oW =g
gh a1 Dl Fgi eiehed gl

Options:

1. » ag el g A " 3RATID AT 31T TS51”
2. % Og Gel Tg A~ 3RATID ATILET 31T TS|
3. v 9Y B g I 3RATTD STILT 31T TS|
4, » gg Gl g 1 =T ST 30T 757

Question Number : 188 Question Id : 54592740791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




T wesT #, I) Thedl A &, 39 TFeT FT ITT R
ST fare Riger &/ a9 F1 @&T f9hed gl

Options:

1. = o Qel @ | "HATeleh AT 377 2"
2. % god Tl g A- ATk ST 37T 5|
3. v ST Wel @ | HATeleh ST 3T 15|
4. = g Wl § 4| 37ATeTeh ST 3T 27

Question Number : 189 Question Id : 54592740792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YTl Uy #, IR eyl § ¥, 39 ey & a7 B ST a0 g
ek AT T WGl e gl

Options:

1. v I D@l Mol JTUH?
2. * g, BT, Wellll JTUDI?
3. % og gl ? TWeltll MUdI?
4. % g Byl Wollll, TUhI?

Question Number : 189 Question 1d : 54592740792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST oA Rger I/ ared #1 @8T fGhed gl

Options:

1. v T $al THeldIT HTIRI?
2. = d§, hal, [Heldll 3HTIRI?
3. % Tg Hhal ? THolT HTIhI?
4, = g gl [Heldll, 3TIhI?

Question Number : 190 Question Id : 54592740793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Fgieiad Uy ¥, IR [aaeul § 9, 39 fadbet & o1 o S 1U T ggTer
& ToIT TET 3ref aTelr fadeT gl

3T U TR USAT

Options:

1. * DIST PIH P
2. % GILHTT hTeh
3. % gad el

4. v T T AT o1

Question Number : 190 Question Id : 54592740793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
St 2T 90 Hgrey & forw @l 31eY arerm fasked &

Hekel UL U2 YsdTl

Options:

1. = Shice hTH hie]
2. = g%m?r I ETe)

3. = S 39l

4. v AT T FTH olall

Question Number : 191 Question Id : 54592740794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgieiad U ¥, IR [Aweul § 9, 39 fadhet & o o S 10 1Y ggTer
& ToIq TET 3ref aTelr e gl

HAT GTET AT

Options:

1. v 9 e



2. * galcqiigd gi-l
3. * HETd PLAT

4. = @l gIHT

Question Number : 191 Question Id : 54592740794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
it fegu arv Fgerat & v @gr 31 aren fashed ¢

FHAT T HILAT

Options:

1. v 9RT THTAT
2. = EdIcHIGd aidr

3. % HAGdd el
4. = Z& aTaT

Question Number : 192 Question Id : 54592740795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYTead ¥ &, IR [ddeul § ¥, 39 [Aded @ a2+ ¢ I7 &0 7T grer
& ToIT @t 3ref aretT oot 3l

e T A BIH]

Options:

1. v 119 U8 T
2. % 0T o&q
3. * ST P BT

4, % TR G 9T

Question Number : 192 Question 1d : 54592740795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




T wesT #, I) Thedl A &, 39 TFeT FT ITT R
it fgu arv geral & fov @gr 31 aren fashed ¢

IMeel UL HANX Gl

Options:

1. v U1% I3 Il
2.wfﬁ€raq—ir
3. = §ET FT FIAl

4. » G & AT

Question Number : 193 Question Id : 54592740796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Maleled U §, IR [Adeul § 9, 39 [dded & Id- & Sl o TS oldlih
& ToIT TET 3ref aTelT et gl

HIAT T T hddl

Options:

1. % PBTH T b T AT Told JTEdT 3TTAT]
2. v TASTLAT § STSHT T GO HT BT USdT 3

3. * 3TUAT I hl

4, » S FIT &

Question Number : 193 Question Id : 54592740796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g ved #, I) TFedl & T, 39 OFeT FT II9
St &1 a2 elepllebd o Tolw g 317 arelmr fashed &1

HIAT AT o hIdTl

Options:



1. % &TH Fla & [OR—T ITeraT TEAT 3TATST
2. meﬁmﬁiﬁ_‘éﬁaﬁ*{dl qsdT &

3. % YT WIAET HIddl

4, = o STel FAT &

Question Number : 194 Question 1d : 54592740797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

METeled U ¥, I) Adeul # 9, 39 [dded @ Id= & Sf of TS dldiih
o ToIq Tgr 3ref arelT erene gl

g T Ggom g

Options:

1. * 3R Ferar giT
2. % U ol &

3. v ST a&q H 37 0T g1
4, * QYT BTH T FIH]

Question Number : 194 Question 1d : 54592740797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl ueet &, I) [Ghedl # &, 30 [Aheq &7 TIT
ST 2 92 elehllord o folv Hgr 31T arermr fdhew g1

|l O G Elam

Options:

1. » 3T FoIara &am

2. % Ueh H #ol ar
3.gma§rﬁma§waﬁm
4, = GTINEOT HIH o Bl




Question Number : 195 Question Id : 54592740798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MgTetad v ¥, o [Aweul § T, 39 g Owey & aa= &2 ST & T
llhlTth & Tl Tat e aTell [ddeT gl

dd gler TgTRA Sidt et IR

1. = 31 aTd =1

2. v 3 & IR T BT

3. * TeIMT § o< 81
4. * TAIAT Wer=T

Question Number : 195 Question 1d : 54592740798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl &I WeaT H, I [dshedl & &, 30 T2 [dhed FT T4
Y ST af IS ollhlled & ToIw Far 37T arer Ahed &l

dd d1g TEIRY ST orsT #Y

1. = EFT J1d ]

2. JE-TI'EI'Q-TEGAHN SO hidl
3. « FATHAT A el oA
4. = Tarem e

Sub-Section Number: 2
Sub-Section 1d: 5459272424
Question Shuffling Allowed : Yes

Question Id : 54592740799 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



S TWENS Bl T Yeeh U¢ A IR el § ¥ Yol T Bl Fellad JtT

Gl

WIS Sieh 3MTeld T TT [HenwdT dT g1 g1 SITdT g, &g 31U G ehicheel
3R SfierT @t ST AT &1 of T g1 g Ig Tg! dradT i % o I8 31 g
&l g, Gra--guS d STk & 8, 3P YR Bl AThAT eI &l g 3R T
I aeqU SN & 3 T & GeahT Sroid adT JIIed TaiT axah ag
qouTe & AT IR AR BT 31U SiTa i G@T TAT G I97 of| 37 ThR
QUi HITGETE, th AT # TS A0 -G & TTelch ollvl & grar
SNTUT TAT YiTSd FIT 31T T gl &g WG Dl TaT=H & DAT AT TIUTH
ATSIAT 31T 5T g1 TP GelTgdIX DT AT To-T TIXyd [y ar 3= fuaT dr mer
T TG & ATT 31 31: IS, A-Aar3it & I TUT g T Tl
TelST=H & Al & T H SN T-F9 U F3AT gl WIT 3N TS o FAT
& T H 3TPT YT YD Aeh & To1T AT 31 SIS &= UTHT DS gl
Tl dled gy |l 3l

Sub questions

Question Number : 196 Question Id : 54592740800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UTIIATC, S Teh AT &+ SATdT 57

Options:

1. * Flgar

2. v 3MTeTdT 3R AT
3. % QT 97 UG

4, = TET @ g

Question Number : 197 Question Id : 54592740801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UTIITC] dh &7 Tg1 Qrerdr?

Options:

1. = 3MTeTdT MR FdFT &7 78
2. v S GRT &1 TS AThd! T IUANT D SiTaT @t T of
3. * fdheel 3N SiTel dl S@T 1Y @




4, * IRV & ddh

Question Number : 198 Question 1d : 54592740802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WITICTS, th TG § USHT AI6T FIT BT 31T TGT 52

Options:

1. * 3MRH AT AT
2. % ST & T §+]

3. v TTATd el &b grer Snfud
4, » Y Al T8I

Question Number : 199 Question Id : 54592740803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR T DI - T UL T, BT T Tal 82

Options:

1. v JTddET
2. » TAqrgefter
3. % ICTIAA

4, % JcorTeiter

Question Number : 200 Question Id : 54592740804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 31O, A DS IJuYh ATid-

Options:

1. » IfAd 3 3T

2. » i 3N Tereken

3. * Sitel T ef@r-STrar

4. v AT 3 TelST-H T Tol

Question Id : 54592740799 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



S AT 1 ATAYAh T¢ T AR Thedl H & Tcdsh U

T HalcdH 3ol t_lﬁl

HTITTTET ST 3T AT fasheAT ar & &r S1ar &, 98 39
T sgfedcd 3R Sfige 1 @l o s« a1 &) 98 Jg =8
Hradr foF $eaY & 30 31 14 & &, AIel-THsA HhT AT
g, 3falh YRR HT ATFaIT Vel $T § 3R T ANT IV eI
& 8 ToF gaT qoehr 3T qur gaETfead e Fh a8 7EWd &
AT 9T AT EIeRY 37U Siidel Sl G&ET JAT HE el of| 30
YR YUIHAT AEIAIE & ToFhd H TSR Hesd IaN-Zam &
ATeleh elldll o BT2AT NN AT Hifsd AT 37T IET &1 d8 A9
T YdoleH & HAT 1 TROMH AT 37T & &1 Teh HAGDHN
T ST Sar g e & 3rua MOar r 7= &1 aRa a7
ST &1 37 IgAmEl A3l & 3ffaR T & foF I8l
qjam?am’fa«'mﬁmm—gm e §31T%-"|34w3ﬂT
qdsled % HAT & FT H SHHBI HET A FfFd & fow
MaarT & 399 §9 UTAT hice a6 dal Siesh 3THgT #T &1

Sub questions

Question Number : 196 Question 1d : 54592740800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTITATSr cATFd T FeT ST &7

Options:

1.&@%?41?
2. v 3Tl 3T foaeAT
3. » HET IUAT HHE




4. = IRy FT IJIRT

Question Number : 197 Question Id : 54592740801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

NEIaTel ShTod T el Aradr?

Options:

1. % 3Tordr AT AhFAT FaT ]

2. v 39O g & a5 ATFAAT FT IUANIT T Siidel AT el o
3. « oyl 3N Slael F g&T e

4, = A & dLlh

Question Number : 198 Question Id : 54592740802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TITATS o TdFhd H TS HIST F4T HIAT 37T T&T 87

Options:

1. = 3RTH T 3Talq

2. = Siigel ST FET FaATall

3. v TTelleh a9l o &2t enfsa
4.&@@3&?@?

Question Number : 199 Question Id : 54592740803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH & Hid - T IHIAT e FT AT dal &7

Options:

1. v AT
2. » rraefrer

3. = 3ERIAT

4. = 3cATereilel

Question Number : 200 Question Id : 54592740804 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

38 HATde I hI5 IUTF fieh-

Options:

1.« 3fq 3R srgfd
2. » gg 3R Tag+w

3. = Sildel T oIET-SI&ET
4. v AEY 3 YOoleH T Tl




